UGC NET 2021 Anthropology

Topic:- Anthropology SHAAN_NOV21A

1) A tiny amount of DNA could be recovered from a crime scene. What technique will enable comparison of this DNA to
that of a potential suspect?
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[Question ID = 1][Question Description = 52_gSNz_PG_ANTH_QO01]
DNA cloning/t wer & geitfaer [Option 1D = 1]

DNA sequencing /=t gal & faadise [Option 1D = 2]

DNA recombination /=t et g frpiwdisser [Option 1D = 3]

DNA fingerprinting /=t va v fverz fgffer [Option 1D = 4]
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Correct Answer ;-
® DNA cloning/#t war = g [Option (D = 1]

2) Ridge counting is NOT possible in which of the following finger-ball patterns ?

foramtcitian 3 3t oo s dfa YRl 3 fra &t s (wefsr) dwa w8 & 7

[Question ID = 2][Question Description = $2_gSNz_PG_ANTH_QO02]
1. Whorl/2 (zm) [Option ID = 5]

2. Loop/gm [Option (D = 6]

3. Lateral pocket loop/diese didhe g [Option ID = 7]

4. Plain arch/f=if am (@ amad) [Option 1D = 8]

Correct Answer :-
e Whorl/di (@) [Option ID = 5]

3) The movement of the thumb to trace a circle might best be described as :
fasaht grwass o 3 3ield @) genal B srer @Y s R geor b aw awa ¥ 7

[Question ID = 3][Question Description = 52_qSNz_PG_ANTH_QO03]
Abduction/ st [Option 1D = 9]

Rotation/gwla [Option 10 = 10]

Pronation/aeimrda [Option ID = 11]

Circumduction /uf¥emu (a@@sTa) [Option 1D = 12]
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Carrect Answer ;-
* Abduction/smerds [Option 1D = 9]

4) If a molecule of starch is repeatedly hydrolyzed, which of the following would be the final product?

afe verd @ g 3wy B Aaa Fu A assied (Hydrolyzed) Reen stan & o siftmr srue & a3 featel3aa # 3 o= yra gsm ?

[Question ID = 4][Question Description = $2_qSNz_PG_ANTH_Q04]
Glucose /= [Option D = 13]

Fructose/gactr [Option 1D = 14]

Ribose /7 [Option ID = 15]

Sucrose /g [Option 1D = 16]
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Correct Answer ;-
o Glucose/smroi= [Option (D = 13]

5) Dental formula of deciduous dentition (milk teeth) among humans is:
ALK # IFarh <0 - R (gi @ ¢ia) srcaag d .

[Question ID = 5][Question Description = $2_qSNz_PG_ANTH_QO05]
1. 2-1-0-2

[Option ID = 17]
2. 2-0-1-2

[Option ID = 18]
_ 3.2-2-0-1
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[Option ID = 19]
4.2-1-2-0

[Option ID = 2(]
Correct Answer ;-
« 2-1-0-2

[Option ID = 17]

6) A group of organisms sharing a common ancestor that includes the common ancestor and all descendants is known as:

il w1 was Brorwt v & gdsr siiy yad Al dorer enfirar 8, wear ¥ -

[Question ID = 6][Question Description = 52_gqSNz_PG_ANTH_Q06]
1. Clan/sixy (<)

[Option ID = 21]
2. Lineage/cifomat

[Option ID = 22]
3. Clade/domrA

[Opticn ID = 23]
4. Phratry/@%2l

[Option ID = 24]
Correct Answer ;-
& Clan/#i5 (den)

[Option 1D = 21]

7) True brachiation mode of locomotion is found among:

forrafera 3 31 fradl o av ged 5 smmer e 3 ¢

[Question ID = 7][Question Description = 52_gqSNz_PG_ANTH_QO07]
1. Howler monkey/zmae wig [Option 1D = 25]
2. Gibbon/s=rr [Option 1D = 26]

3. Chimpanzee/Frosit [Option 1D = 27]

4. Lemur/=iwz [Option (D = 28]

Carrect Answer ;-
# Howler monkey /e &fr [Option 1D = 25]

8) The study and identification of pollen grains is known as:

OIERDUII a5 31E8TETG 3iiF Usare @ o= avel Il & -

[Question ID = 8][Question Description = 52_qgSNz_PG_ANTH_QO08]
1. Petrology/t8is=t [Option 1D = 29]

2. Palynology/tifemimst [Option 10 = 30]

3. Pedology/tSest [Option ID = 31]

4. Taphonomy/ZmEist [Option D = 32]

Correct Answer :-

e Petrology /it [Option 1D = 29)

9) Who among the following made a substative contribution in human growth studies?

forgmteilian 3 31 fopamt aea Fgls sitarma 3 F=asu 3 dREE & ?

[Question ID = 9][Question Description = $2_qSNz_PG_ANTH_Q09]
1. Charles Darwin/zres =iida [Option 1D = 33]

2. J.M Tanner/3re s [Option ID = 34]

3. €. C. Lifsitaiteht [Option 1D = 35]

4. R. A. Fisher/amz w fiegrr [Option ID = 36]

Correct Answer :-
e Charles Darwin/eeat =iida [Option 1D = 33]

10) Who among the following was associated with the discovery of Gigantopithecus in India?
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[Question ID = 10][Question Description = $2_qSNz_PG_ANTH_Q10]
1. S. R. K. Chopra/es sz @, aiust

[Option ID = 37]
2. Ashok Sahni/ sl It

[Option ID = 38]
3. David Pilbearm/2Fr terln

[Option 1D = 39]
4. G. E Lewis/si 3 &

[Option ID = 40]

Correct Answer ;-
e S R, K. Chopra/es, amz, @, wiiust
[Option ID = 37]

11) What is the likelihood that a man with hemophilia mating with a woman who is homozygous for the normal form of the
blood clotting factor gene will have a son with hemophilia?
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[Question ID = 11][Question Description = $2_q5Nz_PG_ANTH_Q11]
1. 50%

[Option ID = 41]
2. 25%

[Option ID = 42]
3. 0%

[Option ID = 43]
4, 75%

[Optien 1D = 44]
Correct Answer :-
& 50%

[Option ID = 41]

12) According to Lamarckism, long-necked giraffes evolved because:

dADaA @ AGHR, el sge ara farlwel o1 fierT gar o=l |

[Question ID = 12][Question Description = $2_qSNz_PG_ANTH_Q12]
1. Nature selected only long necked ones/goft o giaer o=l sider el Sigail =1 o kear [Option 1D = 45]
2. Humans preferred only long necked ones/#mg of Sao ol aidal T Sigal &1 gurerr 81 [Option 1D = 46]
3. Short necks suddenly chandged into long necks/&1et e srmere oidt sica It ufafda & =i [Option D = 47]
4. Of stretching of necks over many generations by short necked ones/=1d sar art il 21T o3 tife=l 7 sida ! =i @ @ [Option 1D = 48]

Correct Answer :-
# Nature selected only long necked ones/ gl o1 dvae ol sidar @t sigall ® o=a fear [Option 1D = 45]

13) Prosimians include:
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[Question ID = 13][Question Description = 52_q5Nz_PG_ANTH_Q13]

1. New world monkeys, apes and humans/=# glerr @ @s=z, mer wrén amew [Option 1D = 49]
2. Old world monkeys, apes and humans /gaett giten o dgz, e ren @men [Option 1D = 50]
3. Lemurs, Lorises, and Tarsiers/disd, #iifs3s v crfieet [Option 1D = 51]

4. Only apes and humans/&s5a areE Sz areg [Option 1D = 52]

Correct Answer :-

& New world monkeys, apes and humans/= giem & doz, T e @em [Option 1D = 49]

14) The term"Qsteo-donto-keratic culture” was given by:

"sl3ean - Siocl - IRl woR'| us &t e R g ol o -



[Question ID = 14][Question Description = 52_qSNz_PG_ANTH_Q14]
1. Wilfred Le Gros Clark/fes st sga gars [Option ID = 53]

2. Robert Broom /et gar [Option ID = 54]

3. John Robinson /e #iffeaer [Option 1D = 55]

4, Raymond Dart/35 =& [Option 1D = 56)

Correct Answer ;-

s Wilfred Le Gros Clark/fewsdl spr aame [Option (D = 53]

15) A gene is a section of DNA that codes for a protein; this unique sequence of bases that will code for the production of a

unique protein is:
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[Question ID = 15][Question Description = $2_q5Mz_PG_ANTH_Q15]

1. Exon/wuziar [Option D = 57]
2. Intron/==gf= [Option ID = 58]

3. Regulatory sequence/Riftrmrr o= [Option 1D = 59)

4, Epistatic sequence/eiiefir apr [Option 1D = 60]

Correct Answer ;-
e Exon/exsa [Option D = 57]

16) Steatopygia is found in females of which tribe?

fepa1 srer=nta &t sz 3 FFereasiEn aen G E -

[Question ID = 16][Question Description = $2_qS5Nz_PG_ANTH_Q16]

1. Toda/dw=t [Option ID = 61]
2. Apache Indian/amur f2=e [Option 1D = 62]
3. Bushman & Hottentot/geis=t vd Zizeric [Option D = &3]

4. Garo/=mi [Option ID = &4]
Correct Answer -

® Toda/dst [Option 1D = 61]

17) Who among the following has said,"Marriage is thus a dramatic encounter between nature and culture”.,..?

forraferfiae 3 31 ot werst 3 "so1 g faars gapfer Ais Hegfer o1 snedta water 3

[Question ID = 17][Question Description = 52_q5Nz_PG_ANTH_Q17]

1. Iravati Karve/srelt =it [Option 1D = 65]

2. L. H. Morgan/werem. sitsler [Option (D = 66]

3. George Peter Murdock/Sifsl dies #&fes [Option (D = 67]
4. Levi -5trauss /ol 5= [Option (D = 68]

Carrect Answer ;-
& |ravati Karve/zzeedt =3 [Option 1D = 65]

18) Which of the following books related to cyber Anthropology was authored by Arturo Escobar?

foraifeifiad 3 31 [Apol gearpl w1 Jder 33 TplER Rl IRMA AR giasei A & ?

[Question ID = 18][Question Description = $2_q5Mz_PG_ANTH_Q18]

1. Cyberculture/smaz weas [Option D = 69]
2. Welcome to Cyberia: Notes on the Anthropology of cyberculture/doera ¢ asdien @ alica Jffe g sieiicist sifw ssae ooz [Option 1D = 70]

3. Internet: An Ethnographic Approach/scae @ wal semifenitT ama [Option 1D = 71]
4, Cyborgs@Cyberspace: An Ethnographer looks at the future/uargiied @ aArse ¥ | o veElenws goa oo = wER [Option 1D = 72)

Correct Answer :-
o Cyberculture/amme wraz [Option D = 69]

19) Which of the following youth dormitories belongs to Oraon?

Rrafeifiaa d A ®lel 1 JaI 9 IRMIEIR 3R @I & 7

[Question ID = 19][Question Description = $2_q5Mz_PG_ANTH_Q19]
1. Rang bang/¥mm

[Option 1D = 73]
2. Ban/a=
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[Option ID = 74]
3. Gotul/=iga

[Option ID = 75]
4. Dhum Khuria/ yegir

[Option ID = 76]
Correct Answer :-
® Rang bang/iEm

[Option 1D = 73]

20) Identify the terms that John Ferguson Mc Lennan coined in regulation of marriage:

s o5 & agmar $ifre B3 siier wejae Fiadivors o Rrars 95 Rifdraer d sier 8

[Question ID = 20][Question Description = 52_qSNz_PG_ANTH_Q20]
1. Parallel cousin and Cross cousin/wrerd 3y o - asa v $Fn - seE S

[Option ID = 77]
2. Levirate and Sororate /ciffe Teo 3R

[Option ID = 78]
3. Hypergamy and Hypogamy/argeiier frames (srpoesttt) aon gl frns (seedeed)

[Option ID = 79]
4. Exogamy and Endogamy/afzffas (vazienl) e siafdas (vesst)

[Option ID = 80]

Correct Answer :-
o Parallel cousin and Cross cousin/erd 33T s - a2a 720 9ar - afeh daf

[Option ID = 77]
21) Which of the following refers broadly to cultural changes which take place when two people, significantly diverse in
culture, live in long intimate contact with each other?

fBrrmferf3o 3 31 aan AR dir u? gsa after R gl © g R & 8d ot afers dder # a8 v faad airgice alvade o
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[Question ID = 21][Question Description = $2_qS5Nz_PG_ANTH_Q21]

Syncretism/ e (Frgf=a [Option 1D = 81)
Acculturation oz IwgR = [Option 1D = 82)
Enculturation /s=gierm [Option 1D = §3)
Live-in-relationship/Rrs - 3o - Relsmidm [Option D = 84]

oWk b2 o

Correct Answer ;-
& Syncretism/zwsam (Rggfess [Option 1D = §1]

22) In the discourse of human dignity and genetic alterations of human beings, the following perspectives matter:

Ao FleT U AR ulyarde oal 3 FewicRaa dgell © #ea & ¢

[Question ID = 22][Question Description = $2_qS5Nz_PG_ANTH_Q22]

1. Necessary dignity and Contingent dignity/smases s=iar qer el seiar [Option 1D = 85]
2. Homo futuralis and Homo homini lupus/Zkl wreen e g gt gu=r [Option 1D = 86]

3. New Anthropology and Humanitas/arfle sftrsre aen z@fees [Option 1D = 87]

4, Transhuman and Posthuman/ iz men 302 @ (diee g@e ) [Option 1D = 88]

Correct Answer ;-

e Necessary dignity and Contingent dignity /amagwr s=iier men snepifrr #miar [Option D = 85]

23) Which one of the following is a typical character for a city?

forrmfertian 3f 2t a=n ot oraT &I yE=dt gmfa 2 ¢
[Question ID = 23][Question Description = $2_qSNz_PG_ANTH_Q23]
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Caste-oriented /sy 3o [Option ID = 89]
Familism /af¥arsae [Option 1D = 90]
Atomization/skpan (e@pmsewe) [Option 1D = 91]
Informalisation/ smtoenisears [Option D = 92]

oW

Correct Answer :-

e Caste-oriented/anf s=o=r [Option 1D = 89]

24) Who applied cybernetics in Anthropology and devised a theory of human communication in his book,'Steps to an
Ecology of Mind'?

fotgmieiiiad 41 31 [cpaaat oifasirel d AFazelieas] @1 YAET B2 AUl Yaad e ¢ Ual sHiciiell 31t aEs’ 3 siea AYwel <& Rigia o giiacs
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[Question ID = 24][Question Description = $2_qSNz_PG_ANTH_Q24]
1. Erving Goffman/sfifer =niusdia [Option D = 93]

2. Gregory Bateson/3prt dewer [Option (D = 94]

3. Roy Rappaport/3fa 300t [Option ID = 95]

4. Audrey Richards/a=g = [Option 1D = 96]

Correct Answer ;-
® FErving Goffman/sfs simitar [Option 1D = 93]

25) Who among the following emphasised the primacy of economics in human relationships?

Rorateilaa d 31 Rocsiar amea Adel & arionsg &1 gemear us oo = & :

[Question ID = 25][Question Description = §2_q5Mz_PG_ANTH_0Q25]

1. E. Durkheim/% gl [Option 1D = 97]

2. M. Weber/wa dmz [Option ID = 98]

3. K. Marx/ort aret [Option 1D = 99)

4, A, Comtefe e [Option D = 100]

Correct Answer :-

& E. Durkheim/4 gfadfr [Option 1D = 97)]

26) Giving primacy to group identity and values, Mary Douglas's work, Purity and Danger is considered as the British
counterpart to which one of the following American publications?

A% serera O wl 'R d3 35e7 o s usarer aan oAl o gt § o B sordt as gty Peatedna A A R bt georersr Bt
il - Fermer Foer At Sl 3 ?

[Question ID = 26][Question Description = $2_q5Mz_PG_ANTH_Q26]

1. Margaret Mead's Coming of Age in Samoa/MEE M= & Sitsr AT v g i [Option 1D = 101]

2. Ruth Benedict's Patterns of Culture/ze d6mre & oola sifw ©ea= [Option 1D = 102]

3. Alfred Kroeber's The Nature of Culture/ sreg saias ot oeR 5w weaz [Option 1D = 103]
4. A.L Epstein's Ethos and Identify/v. wel. wge @1 seita o5 angafeedt [Option 1D = 104]

Correct Answer ;-
o Margaret Mead's Coming of Age in Samoa/asle sitr 6t e siiv o 3 ==t [Option 1D = 101]

27) Which one of the following is known as lineal kin?
forgaitei3aa A A Rt avert d«el war s & 7

[Question ID = 27][Question Description = §2_q5Mz_PG_ANTH_0Q27]
1. The kin who branch out from the main group like uncles and cousins. /= Zisit it 71 F0E 3 Qe 8 Sk ¢ 921 O 3 TR IR/ TRET aga

[Option ID = 105]
2. The kin who are related to each other through marriage. /& St 30 e & w3 o6 g A Jsag &

[Option ID = 106]
3. The kin who are related to each through descent. /i st =it =i 20e derarps # wr g 3 s &

[Option ID = 107]
4. The kin that got separated after the event of divorce. /3 Ss 5 fenz focde & gy aceT 21 o1

[Option ID = 108]

Correct Answer ;-

¢ The kin who branch out from the main group like uncles and cousins. /%3 Fe=ft S Fwea T95E 3 verE &t iRt 2 21en ara 3T ader g/ addt age
[Optien ID = 105]



28) Ethnoscience was concerned with describing which of the following aspect of society?

graaiter fasirer # J1arst & foafoliaa 3 3t fooa veg o1 avla S & ?

[Question ID = 28][Question Description = $2_qS5Nz_PG_ANTH_Q28]
1. Cultural patterns/sizmlse ot [Option 1D = 109]

2. Symbels and Secial Cohesion/Za a=n smnfere I [Option 1D = 110]

3. Cultural Grammars/sizakie ez [Option 1D = 111]

4. Cultural Characters/agiire Fawa [Option ID = 112]

Correct Answer :-
e (Cultural patterns/ai=nier dzat [Option 1D = 109]

29) Which of the following is understood as ‘ethno - etiology?

forgmteifian 4 31 i3l "grdoifasiel’ Alen e 2 7
[Question ID = 29][Question Description = $2_qS5Nz_PG_ANTH_Q29]

1. A culturally-specific casual explanatien for health problems and suffering. /=arses sl aen o © P Tisgiir Fu A RS oRumers s [Option
ID=113]

2. Healing that emphasises the social context, /1 g e gen ot Ak Heed #dn & [Option ID = 114]

3. The study of cross-cultural health system. fam: AieplRrr woses ol o1 awre [Option 1D = 115]

4. Healing that emphasizes balance among natural elements within the body. /58 g ez 2 & g6z & gl smEEl # Jgo= s am g £ [Option (D =
116]

Correct Answer ;-

& A culturally-specific casual explanation for health problems and suffering. /sarrea swsgai men o6 & ow Jiogies =0 3 Rifdee SevEres == [Option
ID=113]

30) Who among the following held that social phenomena must be ‘read’; not only by the Anthropologist but by members of

the society themselves?

forgmteilian 3 31 e Roam fiar 2 ke apnfae acarnsil ©f aere a dad giaaierd ge1, afde 39 © 3ol © gt oft Reen aion @nfge ?

[Question ID = 30][Question Description = $2_q5Nz_PG_ANTH_Q30]
1. David Schneider/2ie= Fagzs [Option 1D = 117]

2. Victor Turner/Frrez colz [Option ID = 118]

3. Clifford Geertz/FremiE RBrid [Option 1D = 119]

4. Harold Conklin/2¥e=s wiwiem [Option 1D = 120]

Correct Answer :-

e David Schneider/2f= sz [Option ID = 117]

31) Which of the following is an approach based on observations of the world rather than on intuition or faith?

fBreaiferfioa 3 9 wior Yar 3awm 3 ol Brea o qarer a3 suenfya a1 Save anven @ Az a2 yenfsa § 7

[Question ID = 31][Question Description = 52_qSNz_PG_ANTH_Q31]
1. Empirical/amgafes [Option 1D = 121]

2. Hypothesis based/absprgsn [Option 1D = 122]

3. Participant observation/zeseh fgror [Option ID = 123]

4. Deductive/fommmrcss [Option ID = 124]

Carrect Answer ;-
# Empirical/amgafems [Option 1D = 121]

32) Which of the following book was authored by Claude Levi Strauss as an Anthropological travelogue?

forraferfiaea 3 3 foa graer @ v aoss ofY - wia o gendla aqrmian B sa A H 3 7
[Question ID = 32][Question Description = 52_q5Nz_PG_ANTH_Q32]

Steps to an Ecology of Mind/z2ta g war swictizt ame amgs [Option 1D = 125]
Tristes Tropiques/RRzea afdaa [Option ID = 126]

Making Connections /3T wamgiz [Option 1D = 127]

Talking about People/Zifisst wanse viwe [Option 1D = 128]

oW R

Correct Answer :-
e Steps to an Ecology of Mind/ =t ¢ gar swictstt smr amgs [Option [0 = 125]

33) Which of the following is an Acheulian site?



forrafer¥aa 3 31 oot srofftraa vara 8 7

[Question ID = 33][Question Description = 52_q5Nz_PG_ANTH_Q33]
Lascaux/dmima [Option 1D = 129]

Star Carr/3oiz am [Option ID = 130])

La Ferrassie/mm g3fa [Option ID = 131]

Boxgrove fdimzeda [Option (D = 132]

oWk b2 o

Correct Answer ;-
& | ascaux/dizelFd [Option ID = 129]

34) Originally identified as mother goddess figurine, the bone artifact from Belan valley was re-identified by Wakankar as:

Alferes U I uedra &I 3 Sl i @i o) Pft Aomer mdt &t aif¥er ol ©F s ST o A G s e ?

[Question ID = 34][Question Description = $2_qS5Nz_PG_ANTH_Q34]
Harpoon/emgat [Option 1D = 133]

Ritual object /g @t @zq [Option 1D = 134]

Scraper/z@wz[Option 1D = 135]

Celt/mwz [Option 1D = 136]

o R

Correct Answer :-
e Harpoon/zmge [Option 1D = 133]

35) Who called non-naturalistic art of lines, notches, and dots as: " time - factorial " objects?

31z - grpfae Yaadll, sidl sz fdgall Bl oo ot "o - A a3l & HU ol [eey dar ar ?

[Question ID = 35][Question Description = $2_qSNz_PG_ANTH_Q35]
Henri Brewuil/&# gger [Option 1D = 137]

André Leroi-Gourhan/aig #8 - sitzgm [Option ID = 138]

Jean Clottes/sai weiies [Option ID = 139]

Alexander Marshack/ sz mdfw [Option 1D = 140]

PR e e

Correct Answer :-
® Henri Breuil/&%t gget [Option 1D = 137]

36) Who used the term “living archaeology” to refer to works by archaeologists in living humans societies?

Ryarel avinvet sera FTars A gearalist o wraf o "aella guavatdsne” & asn & ?

[Question ID = 36][Question Description = 52_q5Nz_PG_ANTH_Q36]
lan Hodder /s gz [Option ID = 141]

Richard Gould/fyr sl [Option ID = 142)

Lewis Binford /7lifs Rerers [Option ID = 143]

Patty Jo Watson /&t it «ifcser [Option D = 144]

oWk B

Correct Answer ;-
& |an Hodder /s 2isz [Option 1D = 141]

37) Which of the following dating methods is used to identify minor stylistic changes in a given type through a period of

time?
forzaifertiae 3 2t @lo1 - I @i - forafzor (3f291) wgfert o1 gErer oieniaz A ol fou s1a goul 3 ayg sursae ufradcl & useare 2 fean
Il & 7

[Question ID = 37][Question Description = $2_q5Mz_PG_ANTH_Q37]
Palynology/tifmis=it [Option 1D = 145]

Dendrochonoclogy/d2rpeisisi [Option ID = 146]

Seriation/3memr (gofkoeo) [Option 1D = 147]

Cross-dating/aga 3= [Option 1D = 148]

bl D —

Correct Answer :-
e Palynology/dfe=mtst [Option 1D = 145]

38) Who is considered the 'Father of Indian Prehistory'?

‘szl YRIRIGI <51 Siois 853l Aol oI & 7

[Question ID = 38][Question Description = $2_qS5Nz_PG_ANTH_Q38]
H. D. Sankalia/wz. &t Feferr [Option |D = 149]

Y. N. Misra/dtl. wor fargg [Option 1D = 150]

A. C. L. Carlleylefw it wer. momwizet [Option 1D = 151]

R. B. Foote/amz &t we [Option 1D = 152]

o 2
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Correct Answer :-
e H. D. Sankalia/wa. = zemftrr [Option 1D = 149]

39) Which of the following rock shetters in Bhimbetka is known as The "Zoo Rock"?

sftardicrast @ 3w deced & Vo dows” @ uw A 9 Swerr s B ?

[Question ID = 39][Question Description = 52_q5Nz_PG_ANTH_Q39]
1. I F-23/1 s - 23 [Option ID = 153]
2. 11l C-50/111 <&t - 50 [Option D = 154]
3. 1 €-21/111 = - 21 [Qption ID = 155]
4. Ul F-19/11l we - 19 [Option ID = 156)

Carrect Answer ;-
o (Il F-23/1l we - 23 [Option ID = 153]

40) A hoarding or notice comprising of 9 inscribed letters was found in;

9 - ifRpa a2l aell wop ufteT aerar sitfes @gl urg o off

[Question ID = 40][Question Description = $2_q5Nz_PG_ANTH_Q40]
1. Lothal/=iee [Option ID = 157]

2. Kalibangan/wwiteen [Option ID = 158]

3. Harappa/zzwm [Option ID = 159]

4, Dholavira/imofRm [Option ID = 160]

Correct Answer ;-
e Lathal/ziem [Option 1D = 157]

41) Which of the following features best describe mtDNA?
A. It was discovered by Margit. K. Mass & Sylvan Nass

B. It codes for only 13 proteins

C. So far no disease has been ascribed to mtDNA

D. Female contribute about 60% of mtDNA to their sons

Choose the correct answer from the options given below:

foaifartiaa fadraamalt # a=n mt DNA = 3 afids 31 uftsnfsy oz & 7

A, sobt T mbdle &, o iz facga o Zrer &t o1 eft

B. ag dad 13 QidE o oo o oxt 2

C. @ a@ mt DNA fee=ft 301 @& fore redier oY urn ko 3

D. ataend sl |t # ermet 60 % mtDNA o1 decm ol 2

i 2w s1e famscul 3 2t 718t Iz gol ©

[Question ID = 41][Question Description = $2_qSNz_PG_ANTH_Q41]

1. A, B only /e A 3z B [Option ID = 161]
2. B, C only/dwea B 3z C [Option ID = 162]

3. B, D only/dwe B iz D [Option ID = 163]

4, B, C, Donly/Zaa B, C iz D [Option 1D = 164]

Correct Answer :-
o A, Bonly/@am A dz B [Option ID = 161]

42) Which of the following statements about human chromosomes are true:
A. Male sex chromosomes do not look alike

B. Overall female chromosomes are shorter than that of male

C. Autosomes have genes for the same traits at the same loci

D. In every pair, one chromosome comes from each parent

Choose the correct answer from the options given below:

Brrafedoa 3 3t oo - & werer wow @ sl © aR # 78 § -

A. gsa @ Faa Qesiya () v warer sl R
B. ma Brarss afdamsit wr sporgg gadl @ sporgg A S Siar 3
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C. @A agl @ shar sifdsisn &t maer Rl (loci) a7 saf¥eaa aa §

D. gedrrs a2 3 oo sy grdw st (wr - Ren) A soon 3

oA e =10 Reseal d A w8 s gdl ¢

[Question ID = 42][Question Description = 52_q5Nz_PG_ANTH_Q42]

1. A, B, C only/a@aer A, B aiiz C [Option ID = 165]
2. B, C, Donly/gse B, C 4fiz D [Qption D = 166]
3. A, C, Donly/dae A, C 3z D [Option ID = 167]
4. A, B, D only/dsae A, B aiiz D [Option 1D = 168]
Correct Answer ;-

e A, B, C only/daa A, B afig C [Option ID = 165]

43) Which of the following traits are true of a human male pelvis?
A. Sacrum is most of the times missing

B. Muscle attachments are more robust

C. Subpubic angle is less than 90°

D. Greater sciatic notch is less than 68°

Choose the correct answer from the options given below:

forgmiteran fRigiarrsil of wplor - wiol Ao gHd oiivr gooia a 3 wdt 2 7
A. Fipoif3er (Ficp) & grr: sepafFaf

B. atadeiir S31a wrbl ga 61§

C. seisraoni vt 90° 3 o Sar &

D. goa sl (3 gff¥er) wiar 68° A wa dler 3

oA R o1e Rped! 3 3 w18t o ool ¢

[Question ID = 43][Question Description = $2_qSNz_PG_ANTH_Q43]

A, B, D only/=m A, B diz D [Option 1D = 169]
A, C, Donly/oram A, C 3z D [Option ID = 170]
B, C, D only/a5aa B, C afiz D [Qption ID = 171]
A and C only/@ae A 4z C [Option ID = 172]

ol B

Carrect Answer ;-
& A, B, D only/gae A, B dfiz D [Option 1D = 169]

44) Which of the following are true for adaptation and acclimatization?

A. Acclimatization is restricted to an individual lifetime only.

B. Acclimatization and adaptation have no genetic component.

C. Long-term adaptations in humans include physiological responses to heat or excessive levels of UV light.

D. Individuals born with dark skin would not become light-skinned, even if they are never exposed to sunlight.

Choose the correct answer from the options given below:

Rraifeiliaa A 3 ®lel IoIEcIol A SYIGIRIcTd @ Hatl A 6l & 7
A, congImera fiselt -afts @ any Shas @ o Am 2o

B. songaet Az saiaad d ©F Aodidns aed oidl §
C. airedl @ SHGIRKG Aadmos # aIu AT Uzl dsmeit Rewil & 3oa widl © gt ordifye aggitsand enfome 2

D, &3 aftp frerb tamn soat A & ol 3 a1 @i a 33 &t fopzoni 7 oot aidt 8 8, Ierbt camn @1 391 sa®! odl den
oir fou a1e famsedl 3 3 7t 3az g ¢
[Question ID = 44][Question Description = $2_qS5Nz_PG_ANTH_Q44]

1. A, B, D only/@wm A, B sfiz D [Option 1D = 173]
2. A, C, Donly/@aa A, C sz D [Option ID = 174]
3. B, C, Donly/=mm B, C iz D [Option D = 175]
4, A, B, C only/=wm A, B siiz C [Option 1D = 176]

Correct Answer ;-
a A, B, Donly/=wm A, B ziiz D [Option 1D = 173]
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45) Which of the following features best describe Ramapithecus?
A. The type fossils were discovered from India

B. For a long it was considered the first hominid

C. Now it has been merged in the category of Australopithecus
D. DNA studies on primates lowered its status

Choose the correct answer from the options given below:

Rrafeifiaa A & ®let - 3 crgvT IFRERGHA ®I da02 go1 A ufwnftra wea & ?
A. Trzu Sfiaresl Bl st wza A & o9 o4

B. bl sema oo 531 e sifdifers amen s an

C. am 3 sifRofiiinea @1 it 3 weamEikm o ar srn 8

D. yrsdicH @ SLume. erme A serbl giafr wa & e 2

oifer o are fmsedl 3 31 Adl 3nz 9o ¢

[Question ID = 45][Question Description = $2_qS5Nz_PG_ANTH_Q45]

A, C, D only/ormm A, C 3z D [Option ID = 177]
A, B, D only/=m A, B siz D [Option 1D = 178]
A, B, C only/=mm A, B diz C [Option 1D = 179]
B, C, D only/aa= B, C afiz D [Option D = 180]

b B

Correct Answer ;-
o A, C, Donly/saen A, C 3fiz D [Option 1D = 177]

46) Which of the following features are true for HbS?
A. It has a dominant and recessive relationship with HbA
B. HbS allele is most frequent in Sub - Saharan Africa

C. HB S5 condition is resistent to maleria

D. Beta chain in HBS has a mutation at the éth position

Choose the correct answer from the options given below:
HbS @ fore ferratfedian fidramai i 3 oia - A =8t & ?

A. seror HbA & amer garrd ofie arqemdt siser 3

B. Hb$S wciier ara - w1sRT arfieor # iffrpienT: frowem §
C. HB SS Bafy adfren & gREem 3

D. HBS 3 dficr gjeren ® B3 FeIro Uz RO 3T §
oA o s1e Ripesit 3 3 718 3% o

[Question ID = 46][Question Description = $2_q5Nz_PG_ANTH_Q46]
1. A, Conlyf@aa Adiz C

[Option ID = 181]
2. B, Conly/gaa B afiz C

[Option ID = 182]
3. B, Donly/®a=B #=z D

[Option 1D = 183]
4, C, Donly/daa C #iz D

[Option ID = 184]
Correct Answer ;-
o A Conly/maaAdzC
[Option ID = 181]

47) Which of the following components take part in the clotting of blood?
A. Hemoglobin

B. Platelet factor Ill



C. Albumin
D. Fibrinogen

Choose the correct answer from the options given below:
a1 @ ol 3 Breaftifaa 3 A wier - A aew wer S 7

A. SoioenRe (Sfieadier)
B. wieele Bz 1
C. scwplida

D. oEHicao
sl fon oo Repedl # 31 718 @ o ©

[Question ID = 47][Question Description = $2_q5Mz_PG_ANTH_Q47]
1. B, Donly/®am B =D

[Option ID = 185]
2. C,Donly/daer C afiz D

[Option ID = 186]
3. A, Conly/damAdz C

[Option ID = 187]
4. A, Bonly/@am Az b

[Option ID = 188]

Correct Answer ;-
e B Donly/®amB =D

[Option ID = 185]

48) Which of the following helps to distinguish the skeleton of a male from that of a female?
A. Examining the pelvic opening

B. Examining the features of the skull

€. Comparing the nose shape

D. Comparing the tooth density

Choose the correct answer from the options given below:

fotgmieii3ad 31 31 a1 o1z A2 AT HHIC A a2 Dol H AR Dl & 7

A, giftigr @1 ufygvr ot uz

B, ®um @& cigivil ®1 Wi Sl Uz

C. AIRD @ 3ARDIT bl el HIol UL

D. gidi @& e & goer ol Uz

oifr o are fmsedl 3 31 Adl vz 9o ¢

[Question ID = 48][Question Description = $2_q5Nz_PG_ANTH_Q48]

1. A, D only/@wer A 3z D [Option ID = 189]
2. C, D only/ws7= C sfiz D [Option 1D = 190]
3. A, Bonly/oma A 3z B [Option ID = 191]
4, B, Conly/@am B &z C [Option ID = 192]

Correct Answer ;-
o A, D only/e A diz D [Option ID = 189]

49) Which of the following features best describe Homo floresiensis?
A. Its fossils were first discovered in Italy

B. The cranial capacity is estimated to be about 420°cc

C. The female skeleton was found to be very tall

D. They are popularly nicknamed as "hobbits"

Choose the correct answer from the options given below:
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fomafcilRaa d A wia - A Rogan? sl - sakfiehaa w1 738 su d uisnfta s 2 ?

A. 33D usc sitawd 6t w1 sooll 3 6 a8 it

B. 3Bl wwurctier 41911 1 oAl TPBET 420°cc &
C. #e1 axpiel Dbl a1 URI SR o1

D. 38 "giftaca" & Jusiel A YR ST AT

oifr o are fmsedl 3 31 Adl vz 9o ¢

[Question ID = 49][Question Description = $2_q5Nz_PG_ANTH_Q49]
1. A, Bonly/Sam Az B

[Option ID = 193]
2. B, Conly/mm B iz C

[Opticn ID = 194]
3. A, Donlyf@aa Az D

[Option ID = 195]
4, B, Donly/@am B azD

[Option ID = 196]
- c.;.rrect Answer e
o A Bonly/famAdzB

[Option ID = 193]

50) Which of the following features are true for Australopiths?
A. They are the longest-enduring hominins, more than 3 million years
B. Some of the Australopithecus fossils were taller than 6 feet
C. Their type fossil was discovered by Raymond Dart
D. The Australopiths discovered from Australia are the most advanced

Choose the correct answer from the options given below:

siteciiftrens & aiy it Raafefan 3 3 oo -2ft Rgroard w5 & ?
A, 9 Ia31 Al Rors afdifcea 8, & 3 fierme aut 21 ot sl adl 21 diag 2
B. @ aifrdIfifirea Siaresr 6 Gic 3 ot aftrs 5 &

C. Jorh TrEa Siarew 61 F|iE IS 3¢ Zrr ol #1F oft

D. MR & W o1 sitedeifiess wa) aftes Rt i

i 2w s1e faoscal 3 2t 78 3az gol ©

[Question ID = 50][Question Description = $2_qSNz_PG_ANTH_Q50]

1. A, C only/@xae A iz C [Option ID = 197]
2. B, Donly/@w= B #iz D [Option ID = 198]
3. A, Bonly/@am A 3z B [Option ID = 199]
4, C, D only/asma C sz D [Option 1D = 200]

Correct Answer ;-
o A, Conly/awe Adiz C [Option ID = 197]

51) Which of the following variables determine a class in Marxian sense?
A. Conflicts over the distribution of economic rewards between the classes.
B. Profound dissatisfaction of the higher class over its inability to control the economic structure.

C. Easy communication between the individuals in the same class positions so that ideas and action programs are
readily disseminated.

D. Establishment of a political organization resulting from the economic structure, the historical situation, and maturation of
class-consciousness.

Choose the correct answer from the options given below:

A @ g forrafelian A 3 Rear ufracat A Resit ost B smmtmeer &l 3 :
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A. sied Rifdoer @it & e aRie WReoR o1 R 3

B. snf¥fep sizaen @) BRIfE et Bt sreft Jrie<rar B b Feaaei 3 612 aRidrg

C. v & qui Bt RafE 3 wafsd © aea 3R sar Tfe R i orkoan s oriow o el 3 T Jo gEE 8 TP
D. i sizael ARRTD Bef sz oo - Ao &I ufkvrfl G wu 3 ERARKD HsToe B FATR

oA o s1e Ripesit 3 3 218 379 T

[Question ID = 51][Question Description = §2_qgSNz_PG_ANTH_Q51]
1. A, Band Conlyf@am A, Bafiz C

[Option ID = 201]
2. A,Band Donly/@mm A, Bz D

[Opticn ID = 202]
3. B,Cand D onlyf@am B, Caie D

[Option 1D = 203]
4, A, CandDonly/dam A, Cam D

[Option ID = 204]
Correct Answer :-

o A BandConly/dam A, Bz C
[Option 1D = 201]

52) Who among the following Anthropologists conducted re-studies?
A. Derek Freeman

B. Bruno Latour

€. Zora Neale Hutson

D. Annette Weiner

Choose the correct answer from the options given below:

foraifeifian 3 31 Rpa sAeraaR<al of Yolsiearmet R ?
A. 3¥p Gidiol

B. ggit ez

C. s alla seaol

D. Goie diorr

off) v s1e Ripewl 3 3 w18t 902 oo ¢

[Question ID = 52][Question Description = $2_q5Mz_PG_ANTH_0Q52]
1. Aand B only/@aa Az B

[Option 1D = 205]
2. Band C only/@aa B 4iz C

[Opticn ID = 206]
3. Aand Donly/sma AdR D

[Option ID = 207]
4, Cand D only/@aw C 3z D

[Option ID = 208]
Correct Answer :-
o AandBonly/asam AR
[Option ID = 205]

53) Which of the following changes are related to Sanskritisation?
A. Positional

B. Structural

€. Cultural

D. Social

Choose the correct answer from the options given below:
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forgmtertian 3 31 @la - a1 uf¥ader dArgpiineor A FERa 8 ?

A, smfiefirhl

B, drweiras

C. airgte

D, wanfas

oifer o are fmsedl 3 31 Adl 3nz 9o ¢

[Question ID = 53][Question Description = $2_qS5Nz_PG_ANTH_Q53]

1. A, B and C only/@am A, B afiz C [Option ID = 209]
2. A, B and D only/®am A, B 3fiz D [Option D = 210]
3. B, Cand D only/@am B, C sfiz D [Option ID = 211]
4, A, Cand D only/amT A, C &z D [Option ID = 212]

Correct Answer ;-

o A, BandC only/@mm A, B 3z C [Option D = 209]

54) Identify the "scapes” that Arjun Appadurai proposed in his study of the Anthropology of Globalization?
A. Ethnoscape

B. Globalscape

C. Financescape

D. Technoscape

Choose the correct answer from the options given below:

Fol "¥BUA" Dl Ugemel DI St siafol UGS of AUl 36l drdlansur o Aoafdsiet 3 grail fovar e ?
A, TeRiFdU

B. sellaceadu

C. BrzdaTdyu

D. eoeiizdu

i 2w s1e famscal 3 2t 8 Iaz gol ©

[Question ID = 54][Question Description = $2_qSNz_PG_ANTH_Q54]

A, Band C only/d@aa A, B site C [Option ID = 213]
B, C and D only/dae B, C afiz D [Option ID = 214]
A, B and D only/@am A, B 4fiz D [Option ID = 215]
A, Cand D only/asae A, C &z D [Option ID = 216]

N PE R o Y

Correct Answer :-
o A, BandConly/@am A, B &z C [Option ID = 213]

55) Which of the following factors are responsible for indirect infanticide?
A. Food deprivation

B. Drowning

C. Smothering

D. Failure to take a sick infant to a clinic

Choose the correct answer from the options given below:

gzae f9rg] goy & fere fomatafian 3 3t oia A e saxcrl 8 ¢

A. siister 3 dfra (zamwr uere o1 smima)

B. sra forrIl 3 saen

C. e

D, weu Big] @I ferafore ae o el A fson

i 2w s1e famscal 3 2t 8 Iaz gol ©

[Question ID = 55][Question Description = $2_qSNz_PG_ANTH_Q55]
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A and D only/aae A ditz D [Option ID = 217]
4 and B only/saa A 3 B [Option 1D = 218]

B and C only/@ae B &tz C [Option 1D = 219]
C and D enly/d5ae C 3tz D [Option D = 220]

oW

Correct Answer :-
o Aand D only/dae A &tz O [Option ID = 217]

56) Find out the strands of Marxist Anthropology
A. Cultural Marxism

B. Structural Marxism

C. Political Economy

D. Process Theory

Choose the correct answer from the options given below:

AraHarst aerafiser &t Rolamy gfew -

A. siizgpie acesfac

B. Fizasirarr arag

C. weriiitnn srefcaasen

D. iz eandt (gt Rigr)

oA R o1e Rped! 3 3 w18t o ool ¢

[Question ID = 56][Question Description = $2_qSNz_PG_ANTH_Q56]

A, Cand D only/aszT A, C & D [Option ID = 221]
A, Band C only/am A, B 3fiz C [Option [D = 222]
B, C and D only/sam B, C 3fiz D [Option ID = 223]
A, B and D only/dam A, B 3fiz D [Option ID = 224]

ol B

Carrect Answer ;-
® A, CandD only/@ae A, C 2w D [Option ID = 221]

57) Which of the following three principal areas had been explored by Levi-Strauss to search for the underlying Structures
of Social life?

A. System of classifications
B. Kinship theories

C. Models of Social structure
D. Logic of Myth

Choose the correct answer from the options given below:

Hrtsre sitact B sfeafoifan Heaonsil o1 U aeliel & fére odl = =i of foafarfia dior @ &gl @1 gfaue fosan en
A, weffown ugfa

B. aderd frgia

C. i dvgen @ sisa

D. fders o1 o

i 2w s1e famscal 3 2t 718 Iaz gol ©

[Question ID = 57][Question Description = 52_q5Nz_PG_ANTH_Q57]

A, B and C only/@ae A, B 3fiz C [Option (D = 225]
A, B and D only/dxae A, B 3tz D [Option (D = 226]
B, C and D only/dxae B, C afiz D [Option ID = 227]
A, Cand D only/aae A, C & D [Option ID = 228]

oW R

Correct Answer :-
o A, Band C only/@am A, B sfiz C [Option D = 225]

58) Which among the following are true about Toda tribe?
A. Studied by W.H.R Rivers
B. Practice polyandry

C. Men and Women engage in Pastoralism
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D. Inhabkit Udagamandalam

Choose the correct answer from the options given below:

forgmiter3ae A A <is1 Sretenter & @3 A o= w8t & ?

A. ooy wa 3R g g1 ge1opt arteret [sen s

B. st sgult - qur @1 gacer 2

C. gy 3iiz slgend awg 1 DrEl @ &

D. sgasan # foram @ &

oA R o1 Rped! 3 3 w18t o 9di ¢

[Question ID = 58][Question Description = $2_q5Nz_PG_ANTH_Q58]

A, B and D only/<am A, B 3fiz D [Option [D = 229]
A, B and C only/oam A, B 3fiz C [Option [D = 230]
B, C and D only/sam B, C 3fiz D [Option ID = 231]
A, C and D only/saer A, C 3z D [Option ID = 232]

o B

Carrect Answer ;-
& A, Band D only/gaer A, B 3fiz D [Option |D = 229]

59) Which of the following express synoptic charts?

A. Relationship between ethnographic data.

B. Outline of the framework of cultural actions,

C. Complex relations are shown systematically

D. Supplemented with genealogies,maps,plans and diagrams

Choose the correct answer from the options given below:

forgmteitian 3 31 Roadl saltoapdl o 61 sifrcahe Rrendt 8 ¢

A, g siest & a1 day

B, sizolite o wora & Baam ol aiEl

C. @fta Fdel O maag =u A gertar AT 2

D, domacil - wrefng, Arsterail Al A A soi Aqyiea oen wmer &

oifer o are sl 3 31 Adl 3nz 9 ¢

[Question ID = 59][Question Description = $2_qS5Nz_PG_ANTH_Q59]

A and D only/5we A S D [Option ID = 233]
A and B only/@wa A & B [Option ID = 234]
B and C only/asrT B &z C [Option 1D = 235]
C and D only/==rT € 3fiz D [Option D = 236]

N N VN S Y

Correct Answer ;-
& A and D only/fameT A &z D [Option 1D = 233)

60) Which of the following Articles in the Constitution of India provide representations to scheduled castes and scheduled
Tribes?

A, Article 15
B, Article 17
C. Article 334
D. Article 16

Choose the correct answer from the options given below:

siTociier wfrenor @ Rroftfan Rvor smedd 3 sl suferdl sz ArggRe seofrike! gRffera Rear s S ?
A. 3105 15
B. siordc 17
C. sioeds 334

D. aeeae 16
a1 Bu s1e Raseal 3 31 =8 3w oa ¢
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[Question ID = 60][Question Description = §2_q5Mz_PG_ANTH_Q60]

A, C and D only/saer A, C 3z D [Option ID = 237]
B, C and D only/sam B, C 3fiz D [Option ID = 238]
A, B and C only/gam A, B 3fiz C [Option D = 239]
A, B and D only/dxae A, B 3tz D [Option (D = 240]

e T

Correct Answer :-
o A CandDonly/@eaa A, C afiz D [Option ID = 237]

61) Pluvial deposits found in East Africa are:
A, Kanjeran

B. Makalian

C. Nakuran

D. Gamblian

Choose the correct answer from the options given below:

oeit ariot 3 aaf @ ot Bréia (v RdR) um se,a 8 :
A. wewer

B. smiferam

C. o

D. SifFacrmt

ofla Bn =1e Repeal d A w8 s @l ¢

[Question ID = 61][Question Description = $2_q5Mz_PG_ANTH_Q61]

A, B only/oram A & B [Option ID = 241]
B, C only/oram B afiz € [Option ID = 242]
. C, D only/<smeT C diz D [Option 1D = 243]
A, D only/saer A iz D [Option ID = 244]

T

Carrect Answer ;-
o A, Bonly/sam A3 B [Option ID = 241]

62) The Priest-king statuette found in Mohenjodaro shows which of the following features?
A. Bearded head and shaven upper lip

B. Hair is bunched in a bun at the back

C. Armband with quatrefoil engravings

D. Headband with a circular amulet on the forehead

Choose the correct answer from the options given below:

AlGerACR! d Uiy 316 el - e &t o giaan ogetelian i 3 foper fgrarraii o gildl 2 ¢
A, Rz uz ara aWun gemed e g3 Hudl Ao

B. =y ancil @1 Flsd: aaRm SR F31

C. il fieen gan diufiren s

D, sz uz sNarmz aEa © 318 Ades

oifr o are fmsedl 3 31 Adl vz 9o ¢

[Question ID = 62][Question Description = $2_qS5Nz_PG_ANTH_Q62]

1. A, B and C only/@®am A, B afiz C [Option [D = 245]
2. B, Cand D only/@am B, C sz D [Option ID = 246]
3. A, Cand D only/=wr A, € 3z D [Option ID = 247]
4, A, Band D only/=m A, B iz D [Option D = 248]

Correct Answer ;-
o A, BandC only/@mm A, B 3z C [Option [D = 245]

63) Neolithic sites in Gangetic plains are:
A. Mehergarh
B. Chopanimando

C. Koldihwa
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D. Mahagara

Choose the correct answer from the options given below:

3ot & Aol WPt 3 craurarorgsiior Torer B -

A, dewig

B, amumcitaist

C. @icdlaan

D. #awG

i 2w s1e faoscal 3 2t 78 3az gol ©

[Question ID = 63][Question Description = $2_qSNz_PG_ANTH_Q63]

A, B and C only/dac A, B 3fiz C [Option (D = 249]
A, Cand D only/=aeT A, C 3fiz D [Option ID = 250]
A, B and D only/@am A, B afiz D [Option D = 251]
B, C and D only/@am B, C sfiz D [Option ID = 252]

NPT R o Y

Correct Answer :-
o A, Band C only/@am A, B sfiz C [Option D = 249]

64) Examples of "Features” in The archaeological record are:
A. Hearths

B. Burials

C. Rubbish bins

D. Home art

Choose the correct answer from the options given below:

gareifrass aifircra 3F fireno! arcdt 'fagdraaril & JeeEwr 2 ;

A, st

B. g

C. werim

D. syeasen

ot e =10 Reseal 3 A =8 s gdl ¢

[Question ID = 64][Question Description = 52_q5Nz_PG_ANTH_Q64]

1. A, Band C only/s5aa A, B afiz € [Qption D = 253]
2. A, Cand D only/@ae A, C 3 D [Option ID = 254]
3. A, B and D only/d@aet A, B stz D [Option ID = 255]
4. B, Cand D only/dxae B, € 3z D [Option ID = 256]

Correct Answer ;-
e A, Band C only/@am A, B sfiz C [Option D = 253]

65) Which of the following are Iron Age sites?
A. Hastinapur

B. Malwa

C. Ahar

D. Atranjikhere

Choose the correct answer from the options given below:

forraferd¥aa 3 31 oo disgeflar vaa § 7

A. sRvege

B. s

C. a2

D. xR

ofia Bn =1e Repoal 3 A w8 s g ¢

[Question ID = 65][Question Description = $2_q5Mz_PG_ANTH_Q65]
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A and B only/dwmm A i B [Option ID = 257]
B and C only/&aer B 4z C [Option 1D = 258]
C and D only/@er C afiz D [Qption D = 259]
A and D only/aaer A ditz D [Option ID = 260]

a2 =

Carrect Answer ;-
& Aand B only/@aa A dfiz B [Option 1D = 257]

66) Match List | with List Il

List | List Il

A, T. R. Malthus |, Natural History

B. Comte de Buffon Il. Principles of Geology

C. James Hutton Ill. Theory of the Earth

D. Charles Lyell V. An Essay on the principles of population

Choose the correct answer from the options given below;

it -1 B 3t -l @ AR iR

et - et -1l
A, & a2 Ace |. s B
B. wis I gwist 1. Rifdruce sifp Rreddish

C. Swa &fol Il 2=t siiw < sief
D. arcet emsua V. o1 weal aifel ¢ Rif1ucat st diveererst

a1k o oo Repeal # 3 w16l 302 giene :

[Question ID = 66][Question Description = $2_q5Nz_PG_ANTH_Q66]

A-1l,B-1V,C-1,D- L [Option ID = 261]
A-W,B-1,C-lL, D- U [Option ID = 262]
A-WL,B-1,C-LV,D- U [Option D = 263]
A-1,B-1¥,C-lL, D- L [Option ID = 264]

ol o

Carrect Answer ;-
o A-ILB-IV, C-1,D-I[Option 1D = 261]

67) Match List | with List Il

List | IList 1

A, Mental foramen |I. Skull

B. Foramen maghum |II. Femur

C. Manubrium 1. Mandible
D. Linea aspera |IV. Sternum

Choose the correct answer from the options given below:

et -1 Bt et 11 3 i i

et -| et -l

A. dicar e I, wrad
B. marig] I, Blors
C. IR I, arzivaeg
D. cifdrr wwwa IV. sl

iy Rw o1e faseal & 31 A8t 3w gfew

[Question ID = 67][Question Description = $2_qSNz_PG_ANTH_Q67]

A-1L,B-L,C-V,D- L [Option ID = 265]
A-1,B-U,C-,D- IV [Option ID = 266]
A-1L,B-LV,C-L, D- Il [Option ID = 267]
A-1V,B-U,C- L, D-[Option ID = 268]

o R

Correct Answer :-
e A-IWL,B-L,C-1v, D- Ul [Option ID = 265]

68) Match List | with List Il

List | List Il

A. Edward’s syndrome |I. 44, X0

B. Klinefelter's syndrome Il. 18 Trisomy
C. Turner's syndrome |III. 21 Trisomy
D. Down's syndrome |IV. 44, XXY

Choose the correct answer from the options given below:
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et -1 Bt et 11 3 g Hif

et -| et -1l

A. wsad o1 scem I. 44, X0

B. wetrsandes T T8l . 18 Ry - sporam
C. cofz @1 FeIsor . 21 fx - sporgg
D. s13a1 w1 Jewgivn Iv. 44, XXy

iy Rw o1e famseal 3 31 A8t 3w gfew

[Question ID = 68][Question Description = $2_qSNz_PG_ANTH_Q68]

1. A-1,B-1v, C- LU, D -1 [Option ID = 269]
2. A-1,B-1v,C-1, D- Ul [Option ID = 270]
3. A-L,B-,C-1v,D-U [Option ID = 271]
4. A-1,B-1,C-lL,D-IV[Option ID = 272]

Correct Answer ;-
e 4-1,B-1v,C-1llU D-L[Option ID = 269]

69) Match List | with List Il

List | List ||

A. Inborn errors of metabolism l. Alec Jeffreys
B. DNA Fingerprinting 1. Kary Mullis

C. Genetic drift ll. A. E. Garrod
D. Polymerase Chain Reaction technique [IV. Sewall Wright

Choose the correct answer from the options given below:

2 -1 B it -l 2 e B

et - | et -1

A. soriiol weat sif FcraiRa I. v Swdtor
B. %t ual © fseraRyf2ar 1. B gfers
C. Wik R lil. . & sas
D. diftr¥er dor Proaersr duotis V. Syarer ar5e

ofr foy a1e famseal 3 21 w1t saz gione ¢

[Question ID = 69][Question Description = $2_qS5Nz_PG_ANTH_Q69]
Torhi- I -1 €0 Dl

[Option ID = 273]
2. A-ILB-LC-U,D-LV

[Option ID = 274]
3. A-LB-Y,C-U,D-L

[Option ID = 275]
4, A-ULB-LC-I,D-U

[Option ID = 276]
Correct Answer :-
e A-IV,B-L,C-U,D-U
[Option ID = 273]

70) Match List | with List Il

List | List Il

A, Jaques Derrida I. Writing culture

B. R. Behar & Gordon, D ‘II. Writing Against culture
C. Clifford, J & Marcus, G.E |III. Women Writing culture
D, Abu-Lughod, L |IV. Writing and Difference

Choose the correct answer from the options given below:

2 -1 B 3t - 2 Ao B

gt -| gt -1
A, Sl 2hesT l. 3zids1 e
B. sz, a3z s diidar £t Il. zteés1 aplise oeaz
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| C. RrensiE 3 us wva ShE

. gier ssidsr aveaz

D. g gl ud

Iv. s s Rwlw

s o s1e Repedl 3 3 718l 302 gione :

[Question ID = 70][Question Description = $2_q5Mz_PG_ANTH_Q70]

A-1LB-W,C-1¥, D-L[Option ID = 277]

1,

2. A-1,B-1l, C- UL, D- v [Opticn ID =
3. A-ULB-L1V,C-L,D- UL [Option ID =
4. A-1¥,B-Ul, C-L,D-Il[Option ID =

Carrect Answer ;-

278
279]
280]

® A-1,B-l,C-lv, D-1[Option |D = 277]

71) Match List | with List Il

List | lList 1

A. Structural school |I. Cora-Du-Bois

B. Structural-Functional schcml|||. Levi Strauss

C. Psychological school 1. W, H. R. Rivers
D. Diffussionary school |IV. Radcliffe - Brown|

Choose the correct answer from

et -1 ot et 11 3 e if

the options given below:

axeht -l yedt I

A. iR FEe |, @t - 3, - disa

B. iz Roeeans a1 Il. oxft =<is

C. Acliasnions Fad I, socgy, wa. e, Peasd
D. garart oo V. 3sttraw grea

iy Rw s1e faseal # 31 78t 3w gfew

[Question ID = 71][Question Description = $2_qSNz_PG_ANTH_Q71]

1
2
3.
4

. A-1,B-1V,C-1, D- Ul [Option ID = 281]
. A-Ul,B-1L, C-1¥,D -l [Option ID = 282]

A-1,B-U,C-lV,D- L [Option ID = 283]

. A-W,B-U,C-1,D- Ul [Option ID = 284]

Correct Answer ;-

A-1,B-1,C-1,D- Wl [Option ID = 281]

72) Match List | with List Il

List |

List Il

A. Margaret Mead

. Annette Weiner

B.

B. Malinowski

Il. Derek Freeman

C. Roy Rappaport

lll. Talal Asad

D. Frederik Barth

|IV. Jonathan Friedman

Choose the correct answer from the options given below:

et -1 Bt et 11 3 g if

et - aeft -l

A. sehic dls |, wale disz

B. &t mfewitawbl Il. 3¥p widie

C. 3T Samard 11, aema arsrg

D. wstrmaret V. slteneot Grssdia

iy Rw a1e faseal # 31 78t 3w gfem

[Question ID = 72][Question Description = $2_qSNz_PG_ANTH_Q72]

1
2
3.
4

. A-l, B-1, C-1,D- U [Option ID = 285]
. A-U,B-U,C-Lv,D-1[Option ID = 286]
A-1, B-1,C-1v, D- U [Option ID = 287]
. A-LB-1¥,C-1l, D- UL [Option ID = 288]

Correct Answer ;-

e A-lv, B-Wl, C-1,D- UL [Option ID = 285]

73) Match List | with List Il

List |

List Il

A,

F. Boas

|I. Azande




B. Radcliffe-Brown

M. Inuit

C. B. Malinowski

lll, Kariera

D. E. Evans Pritchard

|IV. Trobriand Islanders

Choose the correct answer from the options given below:

et -1 Bt et 11 3 i i

et -| ot -l

A. ww. e I oty

B. SsRrcw qmat Il swarge

C. 4. mitroiasht 1. Sfrear

D. §. farca Ryears IV. SRS snsdsear

iy Rw o1e faseal % 31 A8t 3w gfew

[Question ID = 73][Question Description = $2_qSNz_PG_ANTH_Q73]

1. A-1,B- 1, C- ¥, D - [Option ID = 289]
2. A-W,B-LV,C-L,D- U [Option ID = 290]
3. A-1V,B-1, C-1, D- U [Option ID = 291]
4. A-1,B-UL,C-1L,D-V[Option ID = 292]

Correct Answer ;-
e A-I,B-IL, C-Llv,D-[Option ID = 289]

74) Match List | with List |l

List | IList Ii

A. Nevasa |I. Neolithic

B. Attirampakkam Il. Mesolithic

C. Gufkarl ]III. Lower Palaeolithic

D. Adamgarh

Iv. Middle Palaeolithic

Choose the correct answer from the options given below:

et -1 Bt et 11 3 e if

el - it -1

A. olarn ||. sFaaramT wichsr

B. sitrauawa |II. LI UTHIVI DIciiol

C. spweret |III. fordo1 YrruTETUTcSTCr
D. sncasie |IV.31£RI@mmIﬂIaﬂEﬁH

iy v o1e faseal # 31 A8t 3= gew ;

[Question ID = 74][Question Description = $2_qSNz_PG_ANTH_Q74]
1. A-1,B-1, C-UL D- IV [Optien ID = 293]

2. A-1¥,B-1,C-U, D- Il [Option ID = 294]

3. A-LB-1¥,C-1l, D- U [Option ID = 295]
4. A-W,B-U, C-L, D-U[Opticn ID = 296]

Correct Answer ;-

e A-1,B-I,C-UL,D-V[Option ID = 293]

75) Match List | with List Il

List | lList 1

A. Lewis Binford |I. IKung San

B. Richard Lee ll. Coxoh Maya Indians
C. Brain Hayden |III. Nunamiut Eskimo
D. James O’ Connell Iv. Hadza

Choose the correct answer from the options given below:

et -1 ot et 11 3 e if

et - et -l

A. Rt Rowrs I, Yager are

B. frad oft 1. wiaeh arn $¥aca
C. grIcr 33a 1. senbige ufwait
D. Ste= 3l wiokT IV. s=en

iy Rw o1e faseal % 31 At 3w gfew

[Question ID = 75][Question Description = $2_qSNz_PG_ANTH_Q75]
1. A-1,B-I, C-ULD-V [Option ID = 297]

prepp



| 2. A-UL,B-L,C-1,D- IV [Option ID = 298]
3. A-I,B-1, C-LlW,D- ¥ [Option ID = 299]
4. A-ULB-, C-L, D- Il [Option ID = 300]

Correct Answer :-
e A-1LB-I,C-U,D-V[Option ID = 297]

76) Identify the correct sequence of the following major fossils in the ascending order of their discovery
A, Neanderthal Man

B. Homo erectus

C. Homo habilis

D. Australopithecus africanus

Choose the correct answer from the options given below

fersfeifan gz shikredl o sorct Fet @ agd g2 J8 TARHAR REAFRT ©F -
A. foresda wem

B. 2 s¥uca

C. gl sikio=

D. amseenftirra efigeia

ofia on =1e Repeal d A wf s ga ¢

[Question ID = 76][Question Description = $2_q5Nz_PG_ANTH_Q76]

A, C, B, D [Option ID = 301]
B, A, D, C [Option ID = 302]
D, C, A, B [Option ID = 303]
A, B

1.
2.
3.
4. A, B, D, C [Option ID = 304]

Carrect Answer ;-
s A C, B, D [Option ID = 301]

77) ldentify the correct sequence of the following blood group systems in the ascending order of their discovery
A, Bombay Blood group

B. MN Blood group

C. Rh Blood group

D. Duffy Blood group

Choose the correct answer from the options given below

Hisl @ agd ge T 3 oafatiaa wo - awE (w03 s) ddl & @18t oo &t ueaE $Hifaw
A, 15 w015 3

B. ua ot octs 3

C. 3z v =13 37U

D. =6l sc1s s

oifer o are sl 3 31 Adl 3nz 9o ¢

[Question ID = 77][Question Description = $2_qS5Nz_PG_ANTH_Q77]

A, C, D, B [Option ID = 305]
B, A, C, D [Option ID = 306]
D, B, A, C [Option ID = 307]
B, C, D, A [Option ID = 308]

N N VU Sy

Correct Answer ;-
« A, C,D,E [Option ID = 305]

78) Which of the following options lists the steps of the scientific method in order?
A. Observation

B. Prediction

C. Experimentation

D. Hypothesis developments
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Choose the correct answer from the options given below

dxatiors ugirl & @l &t FEll o issataiaa # oie - A1 fivou waliea owm 2 7
A, sadiod

B. sopara

C. gaer
D, ufyscuan Fadter

i 2w s1e famscal 3 2t 718 Iaz gol ©
[Question ID = 78][Question Description = $2_qSNz_PG_ANTH_Q78]

1. A, C, D, B [Option ID = 309]
2. D, B, A, C [Option ID = 310]
3. B, D, C, A [Option ID = 311]
4, A, D

Correct Answer ;-
e A, C,D,E [Option ID = 309]

79) Arrange the following events of meiosis in the correct chronological sequence.

A. Synapsis

B. Disappearance of nucleus

C. Terminalisation of chiasmata
D. Crossing over

Choose the correct answer from the options given below
spurgat ([BiaiiR) B fersifciRan acotrail @l wIekpATHR =BT o &

A, Briftaa

B, @ogw @1 diua

C. saraifioRil (GrEusdicn) oI JAdadd
D. uremeh Fwm (Sifdier daz)

oifer o are sl 3 31 Adl 3nz 9 ¢

[Question ID = 79][Question Description = $2_qS5Nz_PG_ANTH_Q79]
1. A, B, D, C

[Option ID = 313]
2. A,D,C,B

[Option ID = 314]
3. BB

[Option ID = 315]
4, D,C, A B

[Option ID = 316]
Correct Answer -
« A B, D,C

[Option ID = 313]

80) Arrange in the correct sequence of these publications in Anthropology of Gender in the ascending order:

A. Henrietta Moore's Feminism and Anthropology

B. R, Behar and D. Gordon's Women Writing Culture

C. Sherry Ortner’'s Making Gender: The Politics and erotics of Culture
D. Rosaldo, M. Z and Lamphere L's Women, Culture and Society

Choose the correct answer from the options given below

GogIulelt=il aif aiss Uz goitara gol Teenail ©f a6 gu A8l o i wafient 3 -

. D, B, C [Option ID = 312]
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A. ¥orficr wz & DRiferscw ds geiaiash

B. amz. A7 siiz 9. sndar & girer asfder aveaz

C. 91 affey &t afdar Sisy @ g diftiftayn ds Fiitad i weas

D. s, w. 3. 37 AFDR wer. B ol Brax U ARG

oA R o1 Rped! 3 3 w18t o 9di ¢

[Question ID = 80][Question Description = $2_q5Nz_PG_ANTH_Q80]

A, D, B, C [Option ID = 317]
B, C, A, D [Option ID = 318]
A, B, C, D [Option ID = 319]
D, A, B, C [Option 1D = 320]

ol P

¥ H

Carrect Answer ;-
s A D, B, C[Option ID = 317]

81) Arrange the sequence of different successive forms of religion.
A, Polytheism

B. Animism

C. Monotheism

D. Animatism

Choose the correct answer from the options given below

et o5 Rifieer wfdnr rawal @t @78 on J saafaa o

A. apferrar

B. sfiaars

C. voarare

D. sasitaams (geidiaisan)

oA e =10 Reseal d A w8 s gdl ¢

[Question ID = 81][Question Description = 52_q5Nz_PG_ANTH_Q81]

D, C, A, B [Option ID = 321]
C, A, D, B [Option ID = 322]
B, D, A, C [Option ID = 323]
A, C, D, B [Option ID = 324]

N S PO L ey

Correct Answer :-
e D, C, A, B [Option ID = 321]

82) Arrange the correct sequence of the following in their ascending order of appearance:
A, Symbolic Anthropology

B. Practice Theory

C. Post-structuralism

D. Anthropology and Gender

Choose the correct answer from the options given below

et @ goodkoor © aad 5 9t an A w=rafdem o -

A. giftesreaes meafisie

B. amazor Rigi

C. 7z dwmemasg

D. smerfsmet T sise

oA R o1e Rped! 3 3 w18t o ool ¢

[Question ID = 82][Question Description = $2_qSNz_PG_ANTH_Q82]

1. A, D, B, C [Option ID = 325]
2. D, B, A, C [Option ID = 326]
3. B, D, C, A [Option ID = 327]
4. B, A, D, C [Option ID = 328]

H
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Correct Answer ;-
e A, D, B, C [Option ID = 325]

83) Ildentify the correct sequence of E. Evans - Pritchard's important Publications
A. The Kinship and Marriage among the Nuer

B. Theories of Primitive Religion

C. The Nuer

D, Witchcraft, Oracles, and Magic among the Azande

Choose the correct answer from the options given below

¢ zaiw - fieard & wecayul gmierei & & s &t usans &ifom ;

A, g Fpoifdra g3 Afyst Wit g oguz

B. ext¥sr aifw [fadea Rfeileis o

C. cogqm

D. Ramiee, sii¥ren o3 I v § a1

oft R =1g Rroseal 3 3 aft s gd @

[Question ID = 83][Question Description = 52_q5Nz_PG_ANTH_Q83]

A, D, C, B [Option ID = 329]
B, D, A, C [Option ID = 330]
C, B, D, A [Option ID = 331]
B, C, D, A [Option ID = 332]

N S PP S

Correct Answer :-
e A, D, C, B [Option ID = 329]

84) Arrange the following sites from West to East:
A, Kalibangan

B. Banawali

C. Chanhudaro

D, SukTagendor

Choose the correct answer from the options given below

forrafer¥oa zereti @t affin A g &t iy wrabea o ¢

A. wreitdsn

B. arenach

C. acgert

D. IpHReR

ofla on =1e Repeal A A wf s gl ¢

[Question ID = 84][Question Description = $2_q5Nz_PG_ANTH_QB84]

A, B, C, D [Option ID = 333]
D, €, B, A [Option ID = 334]
D, C, A, B [Option ID = 335]
B, A, D, C [Option ID = 336]

a2 =

Carrect Answer ;-
o A B, C, D [Option ID = 333]

85) Arrange the following cultures chronologically from oldest to youngest:
A, Mousterian

B. Azilian

C. Magdelenian

D. Abbevillian

Choose the correct answer from the options given below

forgaiteilan swgier o gerel 3 o&1 < o A saaf¥ema @

prepp



A. aacize

B. uftiicrre

C. Jescibrm

D. wedfdicraa

offer o are sl 3 31 Adl 3nz 9o ¢

[Question ID = 85][Question Description = $2_qS5Nz_PG_ANTH_Q85]

A, B, C, D [Option ID = 337]
D, C, B, A [Option ID = 338]
D, A, C, B [Option ID = 339]
A, D, B, C [Option ID = 340]

1

P

Correct Answer ;-
s A B, C, D [Option ID = 337]

86) Given below are two statements:
Statement [: Age estimation based on dental eruption is useful in individuals up to approximately 15 years of age.
Statement Il: The third molar erupts after this time, but the age eruption of the third meolar is highly variable.

In light of the above statements, choose the most appropriate answer from the options given below

ofidr <1 erer Ru s & ¢

el - | | %o YPEcd @ AT U3 AR I Mihold oiaitbdl 4 cenRt 15 af &6 arg a saeieh g 2

werel - || ¢ i advr o 331 waa © W yEnied siar & Koo dizi: advl g0 @ yzged &l ar it ufracd gidt 2
IURITE Bl & Al 3, o [ew sre fiwcdl 3 31 A= I 307 ©f aad HifHu |

[Question ID = 86][Question Description = $2_q5Nz_PG_ANTH_Q86]

Both statement | and statement Ul are correct/wem | 4 || S =t & [Option ID = 341]

Both statement | and statement |l are incorrect/wem | &= || Sisisewr £ [Option 1D = 342]

Statement | is correct but statement Ul is incorrect/wem | 38t &, Msg e |l srmr & [Option ID = 343]
Statement | is incorrect but statement L is correct/wem | ot & |, sy oo 1 dt & [Option 1D = 344]

P it R

Correct Answer :-
& Both statement | and statement Wl are correct/werm | iz || St =t £ [Option 1D = 341)

87) Given below are two statements:
Statement [: Repetitive DNA sequences are the nucleotide sequences that are repeated many times in the human genome.
Statement [l: Repetitive DNA sequences have no direct role in coding.

In light of the above statements, choose the most appropriate answer from the options given below

ik 31 et e s § ¢

el - | ¢ yoraghes divew agms wIfkroiiicss @ d ©A € bt sirera Jitells 3 aga a: yeregha gidt &
e - || ; yorghiae 3t v u o &t S (ax fmin) 7 o greast gt bt 2 3

JURITD ®eEll © ARD 3, Fi By a1 Reocdl 3 3 9@ SWRIEp Jar ®f aad i

[Question ID = 87][Question Description = $2_qSNz_PG_ANTH_Q87]

Both statement | and statement | are correct/mmm | iz || &=t = £ [Option ID = 345]

Both statement | and statement Il are incorrect/wem | &= || Sisi=emr £ [Option 1D = 346]

Statement | is correct but statement Wl is incorrect/wem | w2t 2 |, fveg wem | s & [Option ID = 347
Statement L is incorrect but statement L is correct/wem | ot &, ey oem || =t & [Option ID = 348]

B R L ]

Correct Answer :-
# Both statement | and statement Il are correct /e | &z || St =8t £ [Option 1D = 345]

88) Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: One result of globalization is the expansion and intensification of structural vielence caused by impersonal,
exploitative, and unjust social, political, and economic systems.

Reason R: Reactions against the structural violence of globalization may take the form of resurgent ethnonationalism or
religious fundamentalist movements.

In light of the above statements, choose the most appropriate answer from the options given below

ofR) € ora 2u s B ues afdrpere (A) @ wu di fifiaa § & gz suss @m (R) S =a #
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fdreperd (A) | Gl o1 oo ufwna 4z 2 [p adalhow, 9iuvsril den JcarRyyi JEiee, Fciiam iz e dal g dsaaras
w1 Rrveny sz sad pra H ol 553

asrzer (R) : Hediasyor &t sizgencans Bm @5 Reg oftfyd sz 3 meraafe & acca yaar anfifos weard) sftrnes o Fasg o aodt §
IORAT WA aF ek #, iR Ry s1v Roedl d A wad sare 3a7 w1 g9t Sifsne ¢
[Question ID = 88][Question Description = 52_qSNz_PG_ANTH_Q#88]

1. Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) Smif 3 2 5fiz (R), (A) & =t =r==n & [Option ID = 349]

2. Both A and R are true but R is NOT the correct explanation of Af(A) stz (R) ol 7@t & wawgg (R), (A) &t 2 sremn oidf 2 [Option 1D = 350]
3. Ais true but R is false/(A) g & wsg (R) am & [Option ID = 351]

4. A is false but R is true/{A) s 2 uzsg (R) sma £ [Option ID = 352]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/ (A) sz (R) Simt =6 £ sfiz (R), (A) ot 2t =me=n 2 [Option 1D = 349]

89) Given below are two statements:

Statement |: Sanskritisation was found to be a widespread cultural and social process among Hindus in different parts of
India.

Statement |l: It is also reported that Sanskritisation to be occurring among some tribal groups such as Bhils and Oraons.

In light of the above statements, choose the correct answer from the options given below

ofl &t west Rese & :

averat - | 1 sivpamo siza 3 RAfeer ssi o Begsii # oo o wivgive aur wmnbes ity 5 8
averet - || @ o sioranciter wgpst wwe sl aen sadl # M drpae & arE st B suecrh fondl 3
IR well a5 el 3, ofkl v a9 Resedl 3 A waA yagTr Iae w1 a6t Sifsre

[Question ID = 89][Question Description = $2_q5Nz_PG_ANTH_Q89]

1. Both statement L and statement W are true /e | sfiz || Seif = 2

[Option ID = 353]
2. Both statement | and statement Ll are false/mem | iz || St sem &

[Option ID = 354]
3. Statement lis true but statement Il is false/oem | I= 2 |, Rreg wem | s 2

[Option ID = 355]
4. Statement L is false but statement Ul is true /o= | spra £, Foog @t || aca 8

[Option ID = 356]
Correct Answer ;-
* Both statement | and statement W are true /o | iz || Sai =t &

[Option ID = 353]

90) Given below are two statements:
Statement |: 11microlithic sites were discovered from Tinnevelly on the banks of the Tambrapani river.
Statement ll; Tools from Tinnevelly were made on quartz, silicified wood, and chert

In light of the above statements, choose the most appropriate answer from the options given below

ofidr < werer e s & ¢

@ud - | 1 11 FPgaaramr Fgeltel Ferell &t Fa augureil st & e Resided! 31 6 a1f oft
el - |l ; feoordeedl 3 gy sfisne vofew, Riiddblaa awmdt iz od A G-e e e &
IURD DUl @ JIelkD #, ik [w 710 el # 3 AT SURED RIE ®f oRiol DIfsw
[Question ID = 90][Question Description = $2_qSNz_PG_ANTH_Q90]

1. Both statement | and statement Ll are correct/mem | Az || =t 2 £ [Option ID = 357]

2. Both statement | and statement ll are incorrect/wem | diz || SEi=smm £ [Option ID = 358]

3. Statement | is correct but statement Ul is incorrect/ @ | w28t 2 |, fveg e | =ewr & [Option ID = 359]
4. Statement | is incorrect but statement Ll is correct/wem | =ewt &, Riveg o | w528t & [Option ID = 360]

Correct Answer ;-
e Both statement | and statement |l are correct /e | diz || St =8t £ [Option ID = 357]
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Topic:- Anthropology SHAAN_NOVZ1B

1) Read the passage below and answer the question that follow:

With the acceptance of modern medical care among populations previously unexposed to European illness, infant mortality
declined and life expectancies went up. These achievements largely came about because of the control of epidemic
diseases, such as smallpox, cholera, yellow fever, syphilis, and tuberculosis as well as the inoculation of children. overall
deaths from infectious diseases may have declined, but other health problems have increased.

A good deal of research has focused on the Samon of the South Pacific who traditionally depend on root and tree crop
horticulture, 5amoans increasingly moved to urban areas, worked for wages, and started buying most of their food. There
was substantial increase, in a short time, in rates of hypertension, diabetes, and obesity accross a range of age groups.

Could some genetic predisposition be interacting with mordenization to create obesity among them? James Neel suggested
that individuals wh have efficient metabolisms and who can store calories in fatty tissue are likely to survive and reproduce
in environement with frequent femines and chronic food shortages. In time, poulations in such environements would have a
high prevalence of individuals with "thrifty" genes. When such individuals no longer need to exercise much or have access
to high calerie food, it could lead to adult-onset diabetes, a scenerio consistent with the increase in diabetes in samoa.

iR f2w s1e e @ ufgu sz Guafafiaa gl & saz e ;

gel 3 e ol 3 srqunifRra el 31 snegfores Riffsear Swr-Yer Aar & yedlwreiear © wer srasna Joy - 53 3 Bt sid afiv SHaer - geanon
gfy g3 Ol quaRert =mrp wu 3 SE @t Bedl, a=iifs asedt Fasa & dlenfxi, S R dor, o, dion saz, RBiibfore (sucell) aen
AUk, Uz forigun umer & ATy - HIe gedl & dwrsen o sren @ firares dagaes demf¥l 2t 2ol arch g 3 @t @ and &, gzeq aod
Faey el Tavard ot o o ¥

sitolt gqoriar &g @ alea a3 wraw serEens gfigar o SRa Boar srn & &t odazera wa 37 ais - ger iz disd A g wa - g a2 ek
Sl 2 HARGH wUd U 3 oiedl il &l ailz ame, asel & fou orf foan iz sae fee 30dl @& mrenerel &i sélcardl 9w &t wrbl srcu
Fraer # & Riteer sy oot © Aol | soa Farg, wepEls sl serar St Aedyal § o ofy 5

e e Merfrr - g fswme ot sia:Ryz sngferdtasser @ e 55, Rrad sorl Mlaar seaser ga3n? Staa sftar & wasen 5 39 safvs Rreat

A AcHifesa disgs 8 afiz il Bedl3iaT @il SR #Hie Fpl A T2 Add &, Iorbl Fresiiian Dbl Fisken ol 3 31z 4 91 - 91 3106l 9Kl 3BT

319rdl ol Il #1201 diel ardrazell # geiscuresl &2 ol 2 oleriaz 3, = uftffafer 3 A "Rud” sfivw ard safipat &1 s afte it
S UH caflpRil @t of ot fns <IRmA wea B | al sigerom ekl 2 3 o & 9ed siffnp Bl am siis Bl FpuT ArasRpar eiedl 3, wo U
uf¥zea =i Fiaien 3 #yde O gy D Faasa R 2w 2

What is the effect of acceptance of modern medical care?

anggfores Rifdoran w3 -y Aar &I dimfa o gura g 2 ?

[Question ID = 91][Question Description = $2_qSNz_PG_ANTH_Q91]
1. Reduced infant mortality/ g0 s@end #0g -5

[Option ID = 361]
2. Increased infant mortality/af¥f aremT a7y - o2

[Option ID = 362]
3. Decline in life expctancy/Sfias grnen ¥ @it

[Option ID = 363]
4. It has no effect/werm w8 qaw ort 2

[Option ID = 364]

Correct Answer ;-
* Reduced infant mortality/ e saEend #0g -g3
[Option ID = 361]

2) Read the passage below and answer the question that follow:

With the acceptance of modern medical care among populations previously unexposed to European illness, infant mortality
declined and life expectancies went up. These achievements largely came about because of the control of epidemic
diseases, such as smallpox, cholera, yellow fever, syphilis, and tuberculosis as well as the inoculation of children. overall
deaths from infectious diseases may have declined, but other health problems have increased.

A good deal of research has focused on the Samon of the South Pacific who traditionally depend on root and tree crop
horticulture. Samoans increasingly moved to urban areas, worked for wages, and started buying most of their food. There
was substantial increase, in a short time, in rates of hypertension, diabetes, and obesity accross a range of age groups.
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Could some genetic predisposition be interacting with mordenization to create obesity among them? James Neel suggested
that individuals wh have efficient metabolisms and who can store calories in fatty tissue are likely to survive and reproduce
in environement with frequent femines and chronic food shortages. In time, poulations in such environements would have a
high prevalence of individuals with "thrifty” genes. When such individuals no longer need to exercise much or have access
to high calorie food, it could lead to adult-onset diabetes, a scenerio consistent with the increase in diabetes in samoa.

A R s19 seErer o afgvw iy BeeififEaa gt o as St :

gd & i @y J arqanfya wen 3 snegferr Riffsean Swr-w Far &R wdtesrelar @ wner srasna ey - o2 A @l and Jiiw Shtaer - gearenr 3
gly g Ut suceerit semus wu 31 2@ ot fiedl, ariifs #aeemd Fasa & dafxd, SR s daw, e, diar saz, Bificfera (sugefl) aen
adfees, gz forigor urst @ mny - wrer ol o1 Hersror fear sen oo Brarss daypae fabal 3 56 acht geg 3 oot @t and B, aeg aeg
Fare dAdtl Favand oft o o 2

2wl guria Sl & FHARGA R IR 3oRATd YR o dica s srn 3 sit viweee w0 A @6 - 39 Az dish 3 g wa - ga w2 Gk
DRI E AHARGH SU® U H orEdt gl &t i g, weigH @ fon oRl fsan iz auot e 358! o mreruret o micerit 9 &I bl arcu
I 3 3l RSt 3Ry 9ol @ aell 3 3w wram, AgpiE i A sit denfwil 3 okt gig &8

I TR0 EUiIRD - gd Rieema o1 ai-Rpen soefferdblonanr @ A 58, et Sedl HIciar 3eusel gan? sled oilal of JasRn kb G334 <aips o

AgA Acdifesa Hisge & 1z 5l Hedléla ©l MSRUI die Il A B2 Adbd &, Ioichl Fraeiliaer bl Fismaen el & 3iiz 9 917 - 91 316l dicl ADIT

JILAT GAGE WY HST0T A araraRell 3 garscacs o ad  wraiar A, Wit afFufeil 5 A "Red” siiva ot wiftval &t slseeh siftres akh
oI B3 aftpel @1 o Al ANS IRnA @eol B o Al Arae s ekl & 3tz & & 3ed ufies Seidl a siista 6 3EnT AMagAdsal it 8, U DT
ufyzoa A FaNen # KA & gly & Taersu Rard T 2

Which among the following was not an epidemic disease?

forsmterfan 3 3 wier vos sz 518t oft ?

[Question ID = 92][Question Description = 52_qSNz_PG_ANTH_Q9%92]
1. Small pox/dor

[Option ID = 365]

2. Yellow fever/tdico saz
[Option ID = 366]

3. Cholera/&m

[Opticn ID = 367]
4. Hypertension/s e

[Option ID = 368]

Correct Answer -
a Small pox/dwmwe

[Option ID = 365]

3) Read the passage below and answer the question that follow:

With the acceptance of modern medical care among populations previously unexposed to European illness, infant mortality
declined and life expectancies went up. These achievements largely came about because of the control of epidemic
diseases, such as smallpox, cholera, yellow fever, syphilis, and tuberculosis as well as the inoculation of children. overall
deaths from infectious diseases may have declined, but other health problems have increased.

A good deal of research has focused on the Samon of the South Pacific who traditionally depend on root and tree crop
horticulture. Samoans increasingly moved to urban areas, worked for wages, and started buying most of their food. There
was substantial increase, in a short time, in rates of hypertension, diabetes, and obesity accross a range of age groups.

Could some genetic predisposition be interacting with mordenization to create obesity among them? James Neel suggested
that individuals wh have efficient metabolisms and who can store calories in fatty tissue are likely to survive and reproduce
in environement with frequent femines and chronic food shortages. In time, poulations in such environements would have a
high prevalence of individuals with "thrifty" genes. When such individuals no longer need to exercise much or have access
to high calorie food, it could lead to adult-onset diabetes, a scenerio consistent with the increase in diabetes in samoa.

ol fou =1e smEne @l ufew 3z PusiiaRaa gal @ 30z v &

gl 3 sRndier Sy 3 argeniea dsi # amegfens Riffscan -y Aar &t Fdlerian @ e srasa 30 - o3 3 wall ans afiz sftaa - geemem 3
afy g€ =i suafReal =nae wu 3 2@ oI i, o=ife A Fasa & fafxl, 32 e dae, 2=, dar saz, Hifbfam (3ugefl) aen
mifees, Uz Foriger umt & A1 - #A1er adi @ doereor Rear srn o Broree sFapns el 3 3o acht gog 3 ot at s 8, weog sea
Farzea Hdel Faead oft s s §
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sitrolt goriar 8l @ aHlyea a3 waw seEens gfigar o SRa Boar srn & 5t adawera wa A ais - g iz disd A g o - g a2 ek
Sl 2 HARGH ud U 3 oiedl il &bl ailz ame, asel & o orf foan iz rae e 30dl @& mrencrel &I wrélcerdl 9w &t wrbl srcu
Faer # & Riteer sy oot © alell | soa Fvarg, wepEks iz serar S dedyal J o ofy 5

aa @ Merafrr - i fswmer OBt sia:Ryz sngferdtasyer @ e 55, Rrad soril Mlaar seaser ga3n? Staa sftar o wasmen 5 39 wafes Rrerd
A Acrifesa Aisgs 8 afiz 5l Bedl¥lar @il HSRUI #le Fpl A T2 Add &, Iorbl Fresiiicnr Dbl Fisen ol 3 317 4 91F - 91 31 9Kl IEBIT

319rdl Yol Il 31201 diel ardrazelt # geiscureel &2 ol 2 latiaz 3, U uftfaferl 3 A "Rudl” siiva ardt safipat &t sigeei afte it
S UH caflpRIl @l of af 3fns <IRmA wea o | dl srgerom ekl 2 3 o & 96l iffnp Dol am s B FEuT AraYIRpar el 3, wo U
uf¥zea =it Fi@in # #Agde O giy D Faasa R 2m 2

Traditionally Samoans were dependent for food on:

UIUEE U 3 ANlieH st @ oo e uz anff & ?

[Question ID = 93][Question Description = $2_qSNz_PG_ANTH_Q93]
1. Vegetables/awsit

[Option ID = 369]
2. Root and tree crop horticulture/ @< - 7 i el & 9o o - @

[Option ID = 370]
3. Rice/zmm

[Option ID = 371]
4. Wheat/3

[Option ID = 372]
Carrect Answer ;-
#* Vegetables/zesft

[Option ID = 369]

4) Read the passage below and answer the question that follow:

With the acceptance of modern medical care among populations previously unexposed to European illness, infant mortality
declined and life expectancies went up. These achievements largely came about because of the control of epidemic
diseases, such as smallpox, cholera, yellow fever, syphilis, and tuberculosis as well as the inoculation of children. overall
deaths from infectious diseases may have declined, but other health problems have increased.

A good deal of research has focused on the Samon of the South Pacific who traditionally depend on root and tree crop
horticulture. Samoans increasingly moved to urban areas, worked for wages, and started buying most of their food. There
was substantial increase, in a short time, in rates of hypertension, diabetes, and obesity accross a range of age groups.

Could some genetic predisposition be interacting with mordenization to create obesity among them? James Neel suggested
that individuals wh have efficient metabolisms and who can store calories in fatty tissue are likely to survive and reproduce
in environement with frequent femines and chronic food shortages. In time, poulations in such environements would have a
high prevalence of individuals with "thrifty" genes. When such individuals no longer need to exercise much or have access
to high calorie food, it could lead to adult-onset diabetes, a scenerio consistent with the increase in diabetes in samoa.

A R s19 sErer o afgv sy BeefifEaa gl o as St

gd & gArdier @b J srqenfya aenl F snefore fRifdsean w3 Irar @ wdtwrlon & wer s gey - ©F 3 ol s 3 Shaar - gearon
gly g Ot sucRerit semus wu 3t 25w ot firedl, ariifs aeemdt Fasa & dlanfe=l, SR s 9w, e, dar saz, Bificfera (sugefl) waen
mifdas, ue frigoer aat & ey - wrer gl o1 Sorpwor fear srn @ Ba: dapae Syl 3 e archt aeg 3 ot at anf 8, aoq 3o
Fare Adtl Favand it o o 3

2wl guria S & FHAIEGeA R GIRE 3oRaTd YR o diga b srn 3 st e a0 A @6 - 39 Az dish 3 g wa - g w2 sk
DRI E FHARGH SU® U A orEdt gl &t 3 g, weigH @ fon orl A iz st e 3581 & mrerucret o micerdt 9 &I bl arcu
Tz # & Riteer sy oo o alell | soa Fovarg, wepEks sz aerar St dedyal J ot ofy 5f

I B0 EUiIRD - gd Rieema o1 aiRpen soeferdblananr @ arer 8, et Se1dl JIcian 3ousel gan? sled oilal of JasRn kb 33 <afs o
AgA dcdifesa Hisge & iz 5l Hedlél ©l MSIUI Al Fadl A B2 Adbd &, Ioihl Freiliaer bl Fismaen el & diiz 4 a7 - 91 31iel dIdl ADI

JILAT GAGE WIEY HSR0T At Aol 3 garscacs o ad  wieiae A, Wft affFufeid 5 3 "Red@” siiva ot wiftsal &t slgceh siftres s
S UH cafpRil @t of af 3fns <IRma wea &l | al srgerom ekl 2 3 o & 96l siffnp Badl am sis Bl FEuT AraYIRpar aiedl 3, &Ko U
ufyzoa =t @Az # wee & gl & e Rard T 2

'Thrifty’ gene is associated with:
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"Radl” sher e Fefta 3 7

[Question ID = 94][Question Description = $2_q5Nz_PG_ANTH_Q94]
1. Diabetes/mps

[Option ID = 373]
2. Cancer/®#ma
[Option ID = 374]
3. Infectious disease/FmErns 391

[Option ID = 375]
4. AIDS/wsm

[Option ID = 376]
Correct Answer ;-
e Diabetes/aghs

[Option ID = 373]

5) Read the passage below and answer the question that follow:

Wwith the acceptance of modern medical care among populations previously unexposed to European illness, infant mortality
declined and life expectancies went up. These achievements largely came about because of the control of epidemic
diseases, such as smallpox, cholera, yellow fever, syphilis, and tuberculosis as well as the inoculation of children. overall
deaths from infectious diseases may have declined, but other health problems have increased.

A good deal of research has focused on the Samon of the South Pacific who traditionally depend on root and tree crop
horticulture, Samoans increasingly moved to urban areas, worked for wages, and started buying most of their food. There
was substantial increase, in a short time, in rates of hypertension, diabetes, and obesity accross a range of age groups.

Could some genetic predisposition be interacting with mordenization to create obesity among them? James Neel suggested
that individuals wh have efficient metabolisms and who can store calories in fatty tissue are likely to survive and reproduce
in environement with frequent femines and chronic food shortages. In time, poulations in such environements would have a
high prevalence of individuals with "thrifty" genes. When such individuals no longer need to exercise much or have access
to high calorie food, it could lead to adult-onset diabetes, a scenerio consistent with the increase in diabetes in samoa.

oilcl few =1e smEner @! uféw 3z hwalalaa guil & sqaz e |

ud # e danfRil 31 srgeniRe disil 3 smegfors Riftecan 2wt Aar & wdieRian o5 wner Jasia #y - ¢ J ®at and A1z Sfaa - yramen a3
afe 5% Ut suafRerl wmaw wa A Sxo ot ficll, adifs aendt Fasa & i, S By ae, Bon, dar saz, Rifbfera (sadell) aen
mifees, Uz Foriger ust & 3y - #A1er awdi @ ST e srn o Broree o debei 3 S acht geg 3 ot at snd 8, weoqg sea
Farrea Al FaTad oft ag o F

zfaoll goria g & FAMGH Uz saIUs AolFiens! gfgan ol diga fasan srm 3 =l w3 =4 31 o7 - J 3z diell 31 gig wd - ol a3 fonlz
Wl & HARGH RINE WU A 9153 &g &t sl ane, segd @ foe wrl e iz saol oie 3odl @& menerd 6 wrélesrdl o &t wrbt arcu
R 4 3 Rifioel AR] oo @ dRil # 300 weam, Ag@E e Alena et At 3 okt giis gf

T HO ATGAORD - Yd Ricema &l sim:fogen suggfordbiossor © A1er g2, et soal dleran 3cusol gan? s oftal o w9 &6 83 «afp oo
A& IcrEiftrsa Hige 8 o1 50 Beardlst w1 sisrer AT Fest A wF Awd §, Jorb snsiiftar &t dwerer vecd 3 o @ e - @ e Ot s

eI Yol FIET ST dic] anaevil 3 Yaisoucd &2 o & oonaz 4, Ut ufsfreferl 3 A "RudY” Sflver ot catipal &t silgeeht sfls gkl
o B2 el I of A ARG wend Srol B o Al arasadmd 2kt 2 3l 7 £l 38 aiftrs Bl ar slister @Y SEUT AlragaasaT 2kl 8, U U
uf¥zea =it w90 d #ALPEE B gy & Aaera R 2m 2

When Samoans increasingly moved to urban areas what Kind of diseases showed substantive increase among them?
S| AARGH SIGKE 9Icd il @ 3ilz smal oie! al Jord AffroienT: wia - i Al © ag e usad & -

[Question ID = 95][Question Description = $2_q5Nz_PG_ANTH_Q95]
1. Cholera, syphilis, and smallpox/Z=n, ugst Mz taw

[Option ID = 377]
2. AIDS and Tuberculosis/esy df midw

[Opticn ID = 378]
3. Hypertension, diabetes, and obesity/swremmny, mEE Jfiz A

[Option ID = 379]
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| 4. Yellow fever and cancer/dimr =97 iz Sz
[Option ID = 380]
Correct Answer :-
# Cholera, syphilis, and smallpox/Z=n, susdt e da
[Option ID = 377]

Topic:- Anthropology_SHAAN_NOV21C

1) Read the passage below and answer the question that follow:

Ethnic conflicts appear to be on the rise. Such conflicts are often thought to be intractable and inevitable because they are
supposedly based on ancient hatreds. But is that true?

Social scientists are a long way from understanding the conditions that predict ethnic conflict, but they do know that ethnic
conflicts are not necessarily ancient or inevitable. For example, an anthropologist who did fieldwork in the former
Yugoslavia in the 1980s described villages where different ethnic groups have lived side by side for a long time without
apparent difficulty. The differences between them were hardly emphasized. But by 1991, people complained about Serb
domination of the Yugoslav government and there was talk of Croatia seceding symbols of Croat nationalism had appeared-
new place names a new flag-and Croates were now said to speak Croatian rather than the language they shared with the
Serbs(Serbs-Croatian or Croato-Serbian). Ethnic violence erupted among Bosnian Serbs, Muslims, and Croats, and only the
intervention of the United Nations established a precarious peace.

Ethnic conflict is frequently associated with secessionist movements. That is secession often occurs after the eruption of
ethnic conflict with all of the forced and voluntary immigration in the world, many countries are becoming more multiethnic
or multicultural. The possibility of ethnic viclence has become a global social problem.

forraiferfian s1zxion @ uféw aen iy 2w ame geglt & aaz 4 ;

v grlia 2l & s gty e 3f gfiy 2t 781 2 o1 Yoo & v grRn: el e sraeasidl wien S € @i v wuvE forn siren 2 A aaa
I 3 IS gUI @ BRI B & Uod TAT A 79 37

e Risieh @ 360 Bualeril @ 31 dtr 3 orbl Bos a0 & Berd e 1 gsudia sl w1 gatogsm fear s wwar § aifa 9 o & Re
ofatreiier Fied aiforaria: gretller seran srasanrd! oiél 2t & ez o o, forer gifarsiordl of adl 1980 & gores & gd Joiizanfan # & orRf
fopen 2 firear ganfer s wrbt T A v J@ry R Reft grag olend © % B E so@ G wadel o wew 28 B amaaar aga & o aft
2 udeyg ad 1991 KT - 3Rt il & Peleonirn & Yerst # o diell & adva @& ey Drorr e 9w o2 R aun Sifrn & et g6t
5 3 = Bror et wfdrend g O Fida gare B0 1 Fersil O o) ol Ru SISt el oA SEST A Jran den mftend dlsil A war sk
wp d wdl (3 - WIPREE s |Ic - Afirnd) SR Akl sol a6 9T | doe Bre olidrng ara S aiRerne wel, gerass aen
mifernz @ dta Bar swso 33t aen Ay e, A @ gFsa o N & afters onifer Tenfim g

AT &1 o1 Fidel agen gerasarardt Aicicrell 31 8l 8 A1fel agen ofsiId o & |1 & geraandrs Uaddal 3 faea 3 garng iz Fakos
YIS dF WI0T 36T S91 9 arsindl srgar ag - Aivgfas 81 s@A 8 groncdt Ban &t sbvnaen v Rae aonfdes aavar aa skl 3

What is the popular opinion about the reason behind ethnic conflicts?

forgmiter3an A A wiol A1 ofsIvIlI TR @ BRUL @ a3 H cIRDRRT AT & ?

[Question ID = 96][Question Description = $2_q5Nz_PG_ANTH_Q96]
1. Linguistic diffrences/smae fimeam

[Option ID = 381]
2. Ancient hatreds/eea zpm 3 Fosft Ton

[Opticn ID = 382]
3. Political domination/ssmifise o<t

[Option 1D = 383]
4. Forced immigrations /s sngEE=

[Option ID = 384]

Correct Answer :-

e Linguistic diffrences/sms fmeren
[Option ID = 381]

2) Read the passage below and answer the question that follow:

Ethnic conflicts appear to be on the rise. Such conflicts are often thought to be intractable and inevitable because they are
supposedly based on ancient hatreds. But is that true?
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Social scientists are a long way from understanding the conditions that predict ethnic conflict, but they do know that ethnic
conflicts are not necessarily ancient or inevitable. For example, an anthropologist who did fieldwork in the former
Yugoslavia in the 1980s described villages where different ethnic groups have lived side by side for a long time without
apparent difficulty. The differences between them were hardly emphasized. But by 1991, people complained about Serb
domination of the Yugoslav government and there was talk of Croatia seceding symbols of Croat nationalism had appeared-
new place names a new flag-and Croates were now said to speak Croatian rather than the language they shared with the
Serbs(Serbs-Croatian or Croato-Serbian). Ethnic vioclence erupted among Bosnian Serbs, Muslims, and Croats, and only the
intervention of the United Nations established a precarious peace.

Ethnic conflict is frequently associated with secessionist movements. That is secession often occurs after the eruption of
ethnic conflict with all of the forced and voluntary immigration in the world, many countries are becoming more multiethnic
or multicultural. The possibility of ethnic viclence has become a global social problem.

forraiferfian s1zxion @1 ufgw aen iy 2w ame geglt & aaz 4w ;

v grlia 2l & fos grondtr e 3f gfiy 2t 781 2 o5 Yoo & v grn: el den sraeasidl wre S € @i U wuE forn airen 2 A s
HI 3 IS U @ BRI B § Uod TA1 A 7 37

il Risieh @ 360 Bualeril @ 531 a9t A ol Boa a0 & Berd e ue gsndka sl o1 gatgsm fear s wwar § aifas 9 sord & [e
ofatreiier Fieed aiforarda: gretller seran srasanrd! orél 2t & serzeu & o, forer gifarsmiordl of add 1980 & gores & gd eiizonfan # & orf
e 8 firsor gronfer A1gs wnbl Forr A vos ar Rronn Roolt grag oidend @ @ 8 sard @ wadcl ot ssva 3o & smagrwar aga & oo gt
2 udeyg ad 1991 3Rl - 3Rl il &Y Peheoniorn & Yeirst # i ciell & axlea @ ey Drorm oo 9w o2 Rar aun Sifrn & cmer g6t
Dt ot T dor ol |FSENE IRgare @ Fida Yare Eiol o191 TUTGll @ ol ol T oY e13Y o1 SisT YT SR den SR aiell 2 oal ar
wp A wal (3 - WIPREE s wIE - Aftrnd) SR Al s1ol T 9T | diooe Bre lidrng ara S AR wel, gaaasi g
oifdrnz @ dta Bar s 33t aen Ay e A @ gFsa & w8 afters onfer renfir g

AT fE311 @1 Fidel agen gearaarardt Aicicrell 31 8l 8 A1fer agen ofsIid o & | & gerasardrs Uaddl 2 faea 3 garg iz Fakos
YIS dF WL 36T SS9 ag ararrdl srgar ag - Aivgfaw 8 sA § gronet Ban &t svnaen v ae wonfdes aaver ga skl 3

Croat nationalism appeared due to
DIfdrE avcare Rea e e we s ?

[Question ID = 97][Question Description = $2_q5Mz_PG_ANTH_Q97]
1. Mixed marriage/ By Rz

[Option 1D = 385]
2. Linguistic chauvinism /swad i SasiRs

[Option ID = 386]
3. Viclence by Hungarians/=tit © smei¥oi g e

[Option ID = 387)
4. Serb domination in the Yugoslav government/gemrom quras 3 m4f &1 axdag

[Option ID = 388]

Correct Answer ;-
* Mixed marriage/ B fos

[Option ID = 385]

3) Read the passage below and answer the question that follow:

Ethnic conflicts appear to be on the rise. Such conflicts are often thought to be intractable and inevitable because they are
supposedly based on ancient hatreds. But is that true?

Social scientists are a long way from understanding the conditions that predict ethnic conflict, but they do know that ethnic
conflicts are not necessarily ancient or inevitable. For example, an anthropologist who did fieldwork in the former
Yugoslavia in the 1980s described villages where different ethnic groups have lived side by side for a long time without
apparent difficulty. The differences between them were hardly emphasized. But by 1991, people complained about Serb
domination of the Yugoslav government and there was talk of Croatia seceding symbols of Croat nationalism had appeared-
new place names a new flag-and Croates were now said to speak Croatian rather than the language they shared with the
Serbs(Serbs-Croatian or Croato-Serbian). Ethnic violence erupted among Bosnian Serbs, Muslims, and Croats, and only the
intervention of the United Nations established a precarious peace.

Ethnic conflict is frequently associated with secessionist movements. That is secession often occurs after the eruption of
ethnic conflict with all of the forced and voluntary immigration in the world, many countries are becoming more multiethnic
or multicultural. The possibility of ethnic violence has become a global social problem.

Poreattrliaa srerior o afge aer &< Ry s1e gesi O 3az dbe
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o gl sten & 5 orseedler dend 3 ofy 81 38 3 s gov @ sad gre: gdeelta aan sravanel aren stron B aoify Yan wwer R soan § 3 O
I M IUSI U &5 DRUI Bl & Ulog T4l A 3 &7

il foseh & 30 Referil & ser a2 orbl fice a0 & Ged A 1 genda dadl o1 gaigee ear @ aoar € aide d arerd 2 e
sraareiter s siferaria: greflar sreran yqeanrd o8t 81 ¥ Jemsvor o fore, Frer gfsnfordl ot o 1980 @ cors o gdf genraiRer # 8l wrl
e 3 idvoel ofanifel Fds ©Ibl A 3 W AR ol Rodl grag oices ® 3 3 & J61d &k Aa#cl o #Asrd Sol bl simasarsar dgd 8t @ ust
2 uzeg ad 1991 a1 - e iRl of JFNECIeR & gondel 3 wd aRil & adiva & sy rorm oo 9F o2 e aen SR & st gkt
bt oft a1 Ae ol WIYENS Irars & ASA Yoo Sl TPl FAT6Il B o) i 2T SIe el R SiST IR STRIT d2 YRS oSl A wal SR
e d zdl (o - SRS e BIE - Aldmrs) grr dicll A6 arcl 9T o dicie: B oiftRnd ana did aif¥erns wEl, gaaae! aen
afdrnz=i o dia Far swes 3dt A Sy weg Hu @ s @ aun 8 e aifer yenftrer 5F

srarreiter o wor wder agen gerparard stctorsi I o & wfdr agen ool covi @ ae & geresarars goraan 3 Riea A gang sz Hiltoa
AT & WYL 3G $91 9 oSl 3T 9g - HRRPID 3l o8 & ofelidl o @bt Fsiren o dffaw menfers Fe=1T oo oR §

Escalated ethnic vioclence among the Bosnian Serbs, Muslims, and Croats was contained by whose intervention?

dif¥orms FxEl, Fce aun DIbrnER & dih wsdl Ear fead sragiu & e Griffa & ard ?

[Question ID = 98][Question Description = $2_qS5Nz_PG_ANTH_Q98]
1. United States of America/3ges ze ¥

[Option ID = 389]

2. United European Delegation/ sy wRidier S
[Option ID = 390]

3. United Nations/ 3z e 2
[Option ID = 3%1]

4, United Yugoslavia/ ezt yeiteniden
[Opticn 1D = 392]

Correct Answer :-

# United States of America/Iige I (MieT
[Option ID = 389]

4) Read the passage below and answer the question that follow:

Ethnic conflicts appear to be on the rise. Such conflicts are often thought to be intractable and inevitable because they are
supposedly based on ancient hatreds, But is that true?

Social scientists are a long way from understanding the conditions that predict ethnic conflict, but they do know that ethnic
conflicts are not necessarily ancient or inevitable. For example, an anthropologist who did fieldwork in the former
Yugoslavia in the 1980s described villages where different ethnic groups have lived side by side for a long time without
apparent difficulty. The differences between them were hardly emphasized. But by 1991, pecple complained about Serb
domination of the Yugoslav government and there was talk of Croatia seceding symbols of Croat nationalism had appeared-
new place names a new flag-and Croates were now said to speak Croatian rather than the language they shared with the
Serbs(Serbs-Croatian or Croato-Serbian). Ethnic violence erupted among Bosnian Serbs, Muslims, and Creats, and only the
intervention of the United Nations established a precarious peace,

Ethnic conflict is frequently associated with secessionist movements, That is secession often occurs after the eruption of
ethnic conflict with all of the forced and voluntary immigration in the world, many countries are becoming more multiethnic
or multicultural. The possibility of ethnic violence has become a global social problem.

foraaifeilRa == @ ufew a2 sk e s gl @ e i ©

231 gelia aren & e ot wad 3 gy &t 38t 2 591 goor @ siad gri: gdaeita aun ammeasrdl A s 8 aaiike Yo serst forn sen 3 3 oo
HAA 3 I gon & SRuI B & Uey 99 A W 87

arntae fasel @1 Jo1 Rufer @ o @il 3 o1dl fitest A 2 e smenz uz greidia st o1 galopna fsar s Aoar 2 afés Q sier 2 s
oarredia Fiad siféraria: griler srman sragmRd o] 8l 3 Ioisevl o ], Bier giksiordl of ad 1980 @ s o gd geilvorken o §ig ©orl
foen 2 ifvoet gfiiel Adgg ©rbl A6 3 wh J1Y [da ol gragy oidens © 3 2 8 Fold di Aadicl ®! #Aetd ol &l Aasaddl dgd 8 o Ut
3 gzag ad 1991 and - snd asil & genranRen @ geier # wd aell @ adva @ Risg o weon 9 o2 Bar a2 wiidrn @ st sia
bt oft a1 19 ol WHYENS Irars B FADA Yoo S1A TPl Tl B o) e 2T SIel el R SiST IR STRIT Je YRS oSl A wal SR
u d Hdl (7 - BIORTE yerar WA - Afeend) gra Aiell siel arel WIHT o dies: e SIfornE v dikd diferne wdf, JACaGi den
DRI @& dia B ssw 38 aen s I Ja D s3asa O TRy 8 afer gnftr venftnT 53

SN IR Z311 TH1 Heitl gt QeRpATIG! AGIcoll 3 361 & Alfol agen eIk ohI D 916 3l Jerbdidlc Uollell & Fra Jd s iz Hikow
MTYATHo B HRYI 36D &91 8 GelldI=I eI a5 - Hiphi® 8l 3R & grarcdl 2w &l wmamn o dlfaw o Aas=n ad sl §
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Secession associated with ethnic conflicts often occur

AL oI ol 3 S[3 ACPIRIS A Sod o & 7

[Question ID = 99][Question Description = $2_qSNz_PG_ANTH_Q99]
1. At the onset of the ethnic conflict/amrd cawrr & an3s 26 A

[Option ID = 393]
2. After the eruption of the ethnic conflict /gl eesam & s & T

[Option ID = 3%4]
3. When no one pays attention to the ethnic conflict/=m st zwam @ @ w1t 3 3

[Option ID = 395]
4. As a result of peace process/wiff qiteen &5 afmeeas

[Option ID = 396]
Correct Answer :-
® At the onset of the ethnic conflict/ st zavr © o 25 A

[Option ID = 393]

5) Read the passage below and answer the question that follow:

Ethnic conflicts appear to be on the rise. Such conflicts are often thought to be intractable and inevitable because they are
supposedly based on ancient hatreds. But is that true?

Social scientists are a long way from understanding the conditions that predict ethnic conflict, but they do know that ethnic
conflicts are not necessarily ancient or inevitable. For example, an anthropologist who did fieldwork in the former
Yugoslavia in the 1980s described villages where different ethnic groups have lived side by side for a long time without
apparent difficulty. The differences between them were hardly emphasized. But by 1991, people complained about Serb
domination of the Yugoslav government and there was talk of Croatia seceding symbols of Croat nationalism had appeared-
new place names a new flag-and Croates were now said to speak Croatian rather than the language they shared with the
Serbs(Serbs-Croatian or Croato-Serbian). Ethnic violence erupted among Bosnian Serbs, Muslims, and Croats, and only the
intervention of the United Nations established a precarious peace.

Ethnic conflict is frequently associated with secessionist movements. That is secession often occurs after the eruption of
ethnic conflict with all of the forced and voluntary immigration in the world, many countries are becoming more multiethnic
or multicultural. The possibility of ethnic violence has become a global social problem.

Brraftifiaa serer o afgw aen ofikr R sre geal @& saz e

o gl sten B fb oreedter dad 3 ofy 81 38 3 59 gov @ svad R gt aan sravamell aren stron & gy Y wwer R soan ¥ 3 O
I M IUS U & DRUI Bl & Ulocg TA1 A 3 &7

il fseh &1 30 Reaferil & ser a3 orbl fice aa & Ged A 1 gend dadl o1 galgme ear @ aoar € aije d arerd 2 [
ofatreiier Fiere aiforaria: gretller seran srasanrd! orél 2t & ez & o, forer gifarsiordl of adl 1980 & o & gd Jeiizanfaan # & orRf
e 2 vl opanifel Fds ©Nbl A 3 Wb AR ol Rodl gragl oices © 3 3 & J6m Jka Aadcl ® #Asrd Sol bl simasasal dgd &t @A ust
2 uzod ad 1991 amd - Akt il of Jelzanian & yarrsrel A 3d clivll & axfra & ey Rrer o 9% o i den @lfSrn & ser 2
1 31 @ Bror el wfdrend g @ Fidda gae B9 eI el O o) ol Ru SISt el ora SEST A s den apftend dlsil A war srn
e d zdl (o - SRS el B - Aldmrs) grr dicll A6 arcl 9T of dicie: B oiftRnd ana didl aif¥erns w[l, gaoae! aen
mifdrnzl @ dta Bar s 33t aen Ay e, Au D gFsa o wun & afters onifer Tenfim g

ararreiter o w1 wder agen gerparard srctorat I o & wifdr agen ool covi @ e & geresarars geraar 3 Riea A g sz Hiltoa
TR B RV 360 $Y1 9 GJolIl=I Al 65 - HRRPID 3l oR1 & ofellcil 1 @bl FHHIaoll O A IEers Has< o6 sR §

Many countries in the world are becoming more multiethnic or multicultural due to

fava 3 aroRp 291 ag - g serEr ag - Aphe e o dr & ?

[Question ID = 100][Question Description = §2_qSNz_PG_ANTH_Q100]

1. Policies of govermments/IER &t wif

[Option ID = 3%7]
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| 2. Glohal dynamics/dfass =iferbr

[Option ID = 398]
3. Forced and voluntary immigration/ oo iz Fikow sy

[Option 1D = 399]
4, International peace processes/sinzaeia Wik g

[Option ID = 400]

Correct Answer ;-

® Policies of governments/awe & =il
[Option ID = 397]

Topic:- GP_29NOV_SH2_A

1)

Study the given table carefully and answer the questions that follow:

The given table has the number of candidates who appeared and qualified for an university entrance examination (in
thousands) in 5 different years. (A-Appeared, Q-Qualified).

BSc [BA MSc MA

A Q A Q A Q A Q
2016 3.4 1.2 6.4 2.3 2.8 1.3 4.8 |2.4

Year

2017 3.6 1.8 |66 (2.5 |2.4 |1.1 4.7 |2.3

2018 4.2 2.1 7.2 (2.8 2.2 1.2 4.6 [2.5

2019 4.8 (2.3 |68 (2.6 (2.5 [1.2 4.9 [2.7

2020 3.8 (1.9 |7.4 3.2 (2.6 |1.3 5.2 [3.2

oiia €1 o1 it & Faniigds ug iz foroiaiiaa gesll @ sz dif ¢

&t o1 aféranT & uia fafdreer aat A fossht frafdencr &1 geaor udten # onfirer afiz 3eilvf amsafdfel &t dzear (1000 #) S s 2 (A - adlgm
orfder, Q - Seiiol)

diosrzit di THCEHIHL THY
A Q A Q A Q A Q
2016 3.4 1.2 6.4 | 2.3 2.8 1.3 | 4,8 | 2.4
2017 3.6 1.8 6.6 | 2.5 2.4 1.1 | 4.7 | 2.3
2018 4.2 Z2.1 7.2 | 2.8 2.2 1.2 | 4.6 | 2.5
2019 4.8 2.3 6.8 | 2.6 2.5 1.2 | 4.9 | 2.7
2020, 3.8 1.9 7.4 | 3.2 2.6 1.3 | 5.2 | 3.2

o

What is the average of the difference between total number of candidates who Appeared and the Qualified candidates for
the stream B.Sc. for 2016-20207?

ad 2016 - 2020 o o dhea. A, ugams & e adtgn 3 s oy arel iz wiien 3 kvl snaffl 6 on dwm @ da diea sar e d 7

[Question ID = 251][Question Description = $2_qSNz_PG_GP28_Q01]
1, 2100

[Option ID = 1001]
2. 2120

[Option ID = 1002]
3. 2135
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[Option ID = 1003]

4. 2125

[Option ID = 1004]

Correct Answer ;-

s 2100

[Option ID = 1001]

2)

Study the given table carefully and answer the questions that follow:

The given table has the number of candidates who appeared and qualified for an university entrance examination (in
thousands) in 5 different years. (A-Appeared, Q-Qualified).

BSc [BA IMSc MA
Year

A @ A e Kk o K o
2016 3.4 1.2 l6.4 [2.3 [2.8 [1.3 |4.8 [2.4
2017 3.6 1.8 l6.6 [2.5 [2.4 [1.1 4.7 [2.2
2018 4.2 2.1 [7.2 [2.8 [2.2 |1.2 4.6 [2.5
2019 4.8 2.3 6.8 [2.6 [2.5 [1.2 l4.9 |2.7
2020 [3.8 [1.9 [7.4 [3.2 [2.6 [1.3 [5.2 |3.2

aitar & o enferan @t areneligdes of Jiiv forrofaiRaa geat @5 saz &S :

& =¥ aferest # aia RAfeer adl # el Reafemea &t gaar aftsn J enfirer siiz seitol spaRin & digar (1000 H) G E (A - aflen A

onfdrer, Q - Sedivi)
ok dowrft dig wHCIHL CAY

A Q A Q A Q A Q
2016 3.4 1.2 6.4 | 2.3 2.8 1.3 | 4.8 | 2.4
2017 3.6 1.8 6.6 2.5 2.4 1.1 4.7 | 2.3
2018 4.2 2.1 7.2 | 2.8 2.2 1.2 | 4.6 | 2.5
2019 4.8 2.3 6.8 | 2.6 2.5 1.2 | 4.9 | 2.7
2020, 3.8 1.9 7.4 | 3.2 2.6 1.3 | 5.2 | 3.2

For which year, the difference between non-Qualified candidates of B.Sc, and B.A, is minimum?

fepz1 ad @ o dlom . sie dhe @ ageiel spafsiat o dia @1 afae sgera 27

[Question ID = 252][Question Description = $2_qSNz_PG_GP28_Q02]
1. 2016

[Option ID = 1005]

2. 2017

[Option ID = 1006]

3. 2018

[Option ID = 1007]

4. 2019

[Option ID = 1008]

Carrect Answer ;-

s 2016

[Option ID = 1005]

L L L
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3)

Study the given table carefully and answer the questions that follow:

The given table has the number of candidates who appeared and qualified for an university entrance examination (in
thousands) in 5 different years. (A-Appeared, Q-Qualified).

BSc [BA MSc MA

A Q A Q A Q Q
2016 3.4 (1.2 |64 (2.3 (2.8 [1.3 4.8 |2.4

Year

2017 (3.6 (1.8 6.6 2.5 |2.4 |1.1 4.7 [2.3

2018 4.2 2.1 [7.2 2.8 (2.2 (1.2 |4.6 |2.5

2019 4.8 2.3 6.8 (2.6 (2.5 [1.2 4.9 (2.7

2020 3.8 (1.9 |7.4 3.2 [2.6 1.3 5.2 (3.2

ol &1 o6 anforpl ! Aemeilyda ud iz oeefciRaa gl @& aaz difee &

& o1 et & uia fafiieor adl 3 sl kralienca &t gaer udizn 3 e sfiz vl sl & s (1000 o) s 8 (A - adiam
onfirer, Q - Fedivi)

drownsht dig e a2 gAY
A Q A Q A Q A Q
2016| 3.4 $:2 6.4 | 2.3 2.8 1.3 | 4.8 | 2.4
2017 3.6 1.8 6.6 | 2.5 2.4 1.1 | 4.7 | 2.3
2018 4.2 2.1 7.2 | 2.8 2.2 1.2 | 4.6 | 2.5
2019 4.8 2.3 6.8 | 2.6 2.5 1.2 | 4.9 | 2.7
2020, 3.8 1.9 7.4 | 3.2 2.6 1.3 | 5.2 | 3.2

axf

Find out the difference between the average of Qualified candidates (2016-2020) of M.5c. and the average of Qualified
candidates (2016-2020) of MA?

g, @ Araa Fdivt spafdf (2016 - 2020) iz vaw. o Jrara sdivt spafi= (2016 - 2020) o5 &k o1 3iaz e 2 7

[Question ID = 253][Question Description = 52_qSNz_PG_GP28_Q03]
1. 1350

[Option 1D = 100%]
2. 1375

[Option ID = 1010]
3. 1400

[Option ID = 1011]
4, 1425

[Option ID = 1012]
Correct Answer :-
& 1350
[Option ID = 100%9]

4)

Study the given table carefully and answer the questions that follow:

The given table has the number of candidates who appeared and qualified for an university entrance examination (in
thousands) in 5 different years, (A-Appeared, Q-Qualified),
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BSc BA MSC MA
Year

2016 (3.4 (1.2 6.4 (2.3 |2.8 |1.3 4.8 [2.4

2017 3.6 1.8 6.6 2.5 (2.4 (1.1 |4.7 2.3

2018 4.2 2.1 7.2 2.8 (2.2 (1.2 |4.6 |2.5

2019 4.8 (2.3 6.8 (2.6 (2.5 1.2 4.9 [2.7

2020 3.8 (1.9 7.4 3.2 (2.6 [1.3 5.2 [3.2

ofiY 1 o iferot o FaaEiyds ug i ek gest & o 8w |

&l o1% aiferont & uia fafice adl 3 el fralaenam &1 gaer uiien # onfi sfiz Fvilvi spfefell 6f sieeen (1000 9) & af 8 (A - allem d
oifdrer, Q - i)

diosrit i THCHIHL THY
A Q A Q A Q A Q
2016 3.4 1.2 6.4 | 2.3 2.8 1.3 | 4.8 | 2.4
2017 3.6 1.8 6.6 2.5 2.4 ; 4.7 2.3
2018 4.2 Z2.1 7.2 | 2.8 2,2 1.2 | 4.6 | 2.5
2019 4.8 2.3 6.8 | 2.6 2.5 1.2 | 4.9 | 2.7
2020, 3.8 1.9 7.4 | 3,2 2.6 1.3 | 5.2 | 3.2

o

Find out the difference between the total number of students who qualified for graduate level examination (B.5c + B.A.)
and post graduate level (Msc + MA) examination during 2016-2020,

ad 2016 - 2020 & <6t Todd =iz @ aiten (dtezdl + 4l v) sz sonaenz w7 (wawidl+ vay) o e vl faenf3t &t gt
Fioa @ dta w1 sicas Rooon 37

[Question ID = 254][Question Description = 52_qSNz_PG_GP28_Q04]
1. 3400

[Option ID = 1013]
2. 3500

[Option ID = 1014]
3, 3600

[Option ID = 1015]
4, 3700

[Option ID = 1016]
Correct Answer :-
e 3400

[Optien ID = 1013]

3)

Study the given table carefully and answer the questions that follow:

The given table has the number of candidates who appeared and qualified for an university entrance examination (in
thousands) in 5 different years. (A-Appeared, Q-Qualified).

BSc [BA MSc MA

A Q A Q A Q A Q
2016 3.4 1.2 6.4 2.3 [2.8 |1.3 4.8 |2.4

Year

2017 3.6 1.8 |6.6 (2.5 2.4 [1.1 4.7 [2.3
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2018 4.2 2.1 7.2 (2.8 2.2 1.2 4.6 [2.5

2019 4.8 (2.3 6.8 (2.6 (2.5 1.2 4.9 [2.7

2020 3.8 (1.9 |7.4 3.2 (2.6 [1.3 [5.2 [3.2

i €1 o1 it & Faniigds ug iz reialaa gesl @ sz difw

& 1€ anferest 3 uier fafirsot et 3 fasft Rvafiencr B grer wlten 3 onfier atz awiof anaRfal Bt sizar (1000 ) & s 3 (A - aflen 3
enfirer, Q - i)

dosraft dig wHCIHL CAY
A Q A Q A Q A Q
2016| 3.4 1.2 6.4 | 2.3 2.8 1.3 | 4.8 | 2.4
2017 3.6 1.8 6.6 | 2.5 2.4 1.1 | 4.7 | 2.3
2018 4.2 2.1 7.2 | 2.8 2.2 1.2 | 4.6 | 2.5
2019 4.8 2.3 6.8 | 2.6 2.5 1.2 | 4.9 | 2.7
2020, 3.8 1.9 7.4 | 3.2 2.6 1.3 | 5.2 | 3.2

o

Find out the difference between non-qualified candidates from the years 2018 and 2019 (for all categories)

aef 2018 sfiz 2019 (b Pwi & fRm) S sropeiv arvelRidi 6t Sta o siee o & ?

[Question ID = 255][Question Description = 52_qSNz_PG_GP28_Q05]
1. 550

[Option ID = 1017]
2. 560

[Option ID = 1018]
3. 575

[Option ID = 1019])
4, 600

[Option ID = 1020]
Correct Answer :-
s 550

[Option ID = 1017]

Topic:- GP_29NOV_SHZ_B

1) Which model is designed to provide students with a cognitive structure for comprehending material presented through
lectures, readings and other media?

forrmfertian 3f 31 ©ia - A1 Jiser EnPRil o SR, ol iz M6 AT & HRI Y AERE] ®] AAT D (8 IHecdd FHadel Ygiel
aszol o fore fsmser R orn & 7

[Question ID = 256][Question Description = 52_qSNz_PG_GP28_Q06]
Inductive thinking/ sewemrs =it [Option 1D = 1021]

Mnemonics/Fsr [Option 1D = 1022]

Scientific inquiry/smiery staon [Option 1D = 1023]

Advance organisers/vsaia sifamsrt [Option 1D = 1024]

HE NPT o gy

Correct Answer ;-
& [nductive thinking/ smmereas dm [Option 1D = 1021]

2) When a teacher presents the most general ideas of the discipline first, followed by a gradual increase in detail and
specificity, it is known as

5td ¢ Bigre fopal v & wafftrs wmars faard o Y o & ag ¢l - i farar sz fafdrearnsii &1 sl sepr &ar 8, d 33
<BEl S $ -
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[Question ID = 257][Question Description = 52_qSNz_PG_GP28_Q07]

Cooperative learning /5= affpm [Option ID = 1027]

oL B

Correct Answer ;-

& Progressive differentiation/gesft ey [Option (D = 1025]

3) Given below are two statements

Progressive differentiation/ypmelt Frtdizo [Option D = 1025]
Inductive thinking/ sermmers wte [Option 1D = 1026]

Jurisprudential inquiry / fftremesit gom [Option 1D = 1028])

Statement I: The advance organiser model is designed to strengthen students’ cognitive structures - their knowledge of a
particular subject at any given time and how well organised, clear and stable that knowledge is,

Statement |l; Cognitive structure has nothing to do with what kind of knowledge of a field is in our minds, how much of it is

there, and how well it is organised.

In light of the above statements, choose the most appropriate answer from the options given below

oIl §1 werer Ru s1w 3 &

werel - | | usaid JiElasar s o Renlkd o Asmencar sivoonil - el e werr R e foesr @ 3oy siter aiiz g sier Roaen
Heationd, Tate iz TRt @ - o Yee oty & forg Rengor foan srn 8

Dol - || | ASTEIcaRD HIal ®Y S B ool - ol oidl & s zans 1ot 3 fipefl Sy o1 fopwr g @1 stiet 2, fesaen s 3 Az w1 e fsaen

Hoaatdent

IUTe wuEl @& 3ilcls i, sila By s1e [epeal 3 A A8 s © @ difers

[Question ID = 258][Question Description = 52_qSNz_PG_GP28_QO08]

a2

Carrect Answer ;-

# Both Statement | and Statement |l are correct/aram | oz || 3 78 & [Option 1D = 1029]

Both Statement | and Statement [ are correct/wem | &z || Si=t =8t & [Option ID = 1029]

Both 5Statement | and Statement [l are incorrect/mrem | iz || gl s & [Qption (D = 1030]

Statement | is correct but Statement Il is incorrect /e | ag &, fireg e |l ama £ [Option ID = 1031]
Statement | is incorrect but Statement [l is correct/wem | sem &, e e || =8t £ [Option 1D = 1032]

4) The theory of meaningful verbal learning deals with which of the following concerns?

A. How knowledge (curriculum content) is organised.

B. How the mind works to process new information (learning)

C. How teachers can apply ideas about curriculum and learning when they present new material to students (instruction)

D. How the students provide responses to critical questions (questions response)

E. How the institution has established a language lab (infrastructure)

Choose the correct answer from the options given below:

#iekr enfeew af2em an Rigia RPesifeiRaa 3 31 Rver - oo @l A it § 7
A. sma1 (vigrrerat & Rrrraeg) @1 S caaf¥em Rean s 3

B. o1 smorwrt (aiffemr) w1 QiAa @l 3 Raer B3 orl own §

C. s RBrgre RenlRfal o orf awpe] (sEden) W 8, aa d gl iz aitrm & dAder d KRRt o segrie fea gor e 8
D. Renel s amilaeras gl (Gl - 3m2) D aRr DA sd &

E. dverme of simen yEsienel &t Femuan fasear gowore &t E (amadzen)

oIy few a1e faoscal 3 31 Ad I o1 wRIa oifss @

[Question ID = 259][Question Description = 52_qSNz_PG_GP28_Q09]

A, B and C only/@am A, B afiz C [Option D = 1033]
A, B and D only/oam A, B 3fiz D [Option D = 1034]
A, B and E only/=sm A, B giz E [Option 10 = 1035]

R

Correct Answer ;-
a A, Band C only/daa A, B 3fiz C [Option 1D = 1033]

C, D and E only/@am C, D am E [Option ID = 1036]

%) Match List | with List Il

List |

List |l

ICT Tool for Teaching

Purpose

A. Google Classroom

|. Assesment of learning
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B. Google Meet

1l. Synchronous interaction

C. Google Quiz

1ll. Acces to course content

D. Google Jamboard

IV. Colloborative tasks

Choose the correct answer from the options given below:

it -1 B 3t -l @ AR iR

ot - axedt -1l

(forgror 5 Rory sme=Mtet ger) (geirsTot)

A. IPIT doliAEA |, sit2PIa @1 Heiod

B. sporer 9 I, waepienr sia:Rgen

C. 31 st 1. urgerass &t fageasg as uga
D. spr SisaE V. Fsisneam wrl

iy v o1e faseal # 31 A8t 3= gew ;
[Question ID = 260][Question Description = $2_qSNz_PG_GP28_Q10]

1. A-Nl,B-1I,C-1,D- IV [Option ID = 1037]
2. A-1,B-1,C- 1V, D- il [Option ID = 1038]
3. A-1,B-1V,C-III,D- I [Option ID = 1039]
4. A-IV,B-1Il,C-1l, D-1[Option ID = 1040]

Correct Answer ;-

e A-NILB-1,C-1,D- IV [Option ID = 1037]

6) The term "File drawer problem” is related to

"IEd 31T YieaH' forgoiferiian 3 3 fopaey Hdfm 2

[Question ID = 261][Question Description = $2_qSNz_PG_GP28_Q11]
1. Ethnography/senfkiemsy [Option 1D = 1041]

2. Experimentation/gaer [Option 1D = 1042]

3. Meta analysis/aféfaea (Feeenfatg) [Option 1D = 1043]

4. Case history/s=fega [Option ID = 1044]

Carrect Answer ;-

s Fthnography/genkremeg [Option 1D = 1041]

7) Debriefing involves several activities following the collection of data :

A. Explanation of any deception

B. Explaining the superiority of the present research

C. Description of the purpose of the study

D. Post-study follow-up medical or psychological attention

E. Publication of the finding of the research in a journal

Choose the correct answer from the options given below:

Sieifber # aRp3SI B Jepew D 96 @F Rpgeona enfda 3 :

A. Rzl R & sneen

B. arinama oner i ofvomn bt RuER e

C. Jtzrra @ gRIlsT Ol avist

D. arerraet @ 3URiA elaril RikRprell a1 FeiliasbRs eamet

E. oitt1 @& forwpd @1 sioial 3 geprerat

oifer o are sl 3 31 Adl 3nz 9 ¢

[Question ID = 262][Question Description = 52_qSNz_PG_GP28_Q12]

1. A, Band C only/@am A, B, C [Option 1D = 1045]
2. A, Cand D only/wm A, C, D [Option D = 1044]
3. B, Cand Donly/oam B, C, D [Option 1D = 1047]
4, C, Dand Eonly/@am C, D, E [Option 10 = 1048]

Correct Answer ;-

® A, BandConly/saa A, B, C [Option ID = 1045]

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R



Assertion A: One of the important aims of research is the development of a theory.
Reason R: Both facts and theory are important for doing the research,

In light of the above statements, choose the most appropriate answer from the options given below

i) ot weaet Rw s1w 3 © wep afdnpera (Assertion A) @ u # 3iiz o1 33 wrwt (Reason R) D wa 4 &
Jfdrererat (A)  ofler @& sgrayul cegdl A 3 oo Rigia o fiort owen &

ol (R) ; o Tt & R ave sz Brgia S1el sisragei

FRITP TerEl @& Arcie # fomiiken Rieoodl 3 21 7l 3ve ool |

[Question ID = 263][Question Description = 5§2_qSNz_PG_GP28_Q13]

Both A and R are correct and R is the correct explanation of A/ (A) sfiz (R) St =8 & sz (R), (A) &t =& == & [Option ID = 1049]

Both A and R are correct but R is NOT the correct explanation of A/ {(A) & (R) ==t & 2 womg (R), (A) Ot =t cmeem =it 2 [Option 1D = 1050]
Ais correct but R is not correct/(A) ot 2 g (R) =t == & [Option ID = 1051]

A is not correct but R is correct/ (A) =dt =ff & may (R) =t & [Option ID = 1052]

oWk B

Correct Answer :-
a Both A and R are correct and R is the correct explanation of A/(A) iz (R) 2=t 32t £ 5z (R}, (A) & =2t == 2 [Option 1D = 1049]

9) Given below are two statements
Statement I: Power of a statistical test refers to its ability to reject the null hypothesis when it is incorrect
Statement |ll: The value of standard deviation of a sample indicates its homogeneity/ heterogeneity.

In light of the above statements, choose the correct answer from the options given below

ol <1 erer Ru s & ¢

el - | 1 wificabler ufigmon 6 916 95T Yrbodell @ STohT 3601 UT 531 JdioR ol B ad! aaan &
werel - |l 1 foselt giteet & srors fomrera @1 sier searcht AaieTan / famenier ot gertar

IWRYTe Dol @ Al A, s 16w s1e fawcul 3 3 wdl a7 B o6t Difare @

[Question ID = 264][Question Description = 52_qSNz_PG_GP28_Q14]

Both Statement | and Statement || are true/arem | 3z || = = £ [Option 1D = 1053]

Both Statement | and Statement [l are false/w@wemt | & | disii s £ [Option D = 1054]
Staternent | is true but Statement 1l is false/wem | 2w 2, frsg wem 1 ape & [Option 1D = 1055]
Statemment | is false but Statement Il is true/uem | spwa &, Resg wsemr |l s & [Option 1D = 1056]

e it BRI

Correct Answer :-
& Both Statement | and Statement |l are true/mem | diz | si=t s & [Option 1D = 1053]

10) Characterstics of good measurement are
A. Reliability

B. Accuracy

C. Objectivity

D. Validity

E. Practicability

Choose the correct answer from the options given below:

aress A &t fadraand £

A, ferazeiten

B. srfiasen

C. agieroa

D. derm

E. gaigprran

oiter fw a1 farasedll 3 3t 7él Ine o1 aae B @

[Question ID = 265][Question Description = $2_qSNz_PG_GP28_Q15]

1. A, B and C only/dae A, B, C [Option ID = 1057]
2. A, Cand D only/@ae A, C, D [Option ID = 1058]
3. B, Cand D only/@am B, C, D [Option 1D = 1059]
4, A, Dand E only/=w@= A, D, E [Option 1D = 1060]
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Correct Answer :-
o A, Band C only/@am A, B, C [Option 1D = 1057]

11) The communication which happens outisde the realm of interpersonal communication is called

U3 FFEVT Dt TAT HE A 8 S Ao b AFYEVI & TR A 916 T 2 -

[Question ID = 266][Question Description = §2_qSNz_PG_GP28_Q16]
1. Interpersonal communication/simsdafers 3w [Option 1D = 1061)

2. Intrapersonal communication /s daftse e [Option 1D = 1062]

3. Mass communication /s [Option ID = 1063]

4. Upward communication/ sedagz soimer [Option 1D = 1064]

Correct Answer :-
* [nterpersonal communication/dm=daies metmm [Option ID = 1061]

12) In communication, cross-cultural barrier refers to:

Fraor # arairaier sada Read dditm 3

[Question ID = 267][Question Description = 52_qSNz_PG_GP28_Q17]
1. Physical entities/siliier zvm [Option ID = 1065]

2. Sincerity of speaker/mror &t swafemo [Option 1D = 1066]

3. Perceptions of people/akt of arma [Option 1D = 1067]

4, General human values/ s merlr s [Option 1D = 1068]

Correct Answer ;-
& Physical entities/siiiers 3o [Option 1D = 1065]

13) The communication between two or more persons who are subordinates working under the same person is an example
of :

21 21 o1 3 siftrs cafpedt & o Fetuor i o & wifts & atfiar ol o2 32 8, oo seeam 8 ;

[Question ID = 268][Question Description = $2_qSNz_PG_GP28_Q18]
1. Lateral communication/ui®dkr m=mm [Option 1D = 106%]

2. Upward communication/ sedgz smor [Option |D = 1070]

3. Diagonal communication/ el meqmu [Option [D = 1071]

4. Downward communication/ == s [Option 1D = 1072]

Correct Answer :-
# | ateral communication/uRds FtEm [Option 1D = 1069]

14) Chatting on WhatsApp is an example of

TEILAYU U3 ¢ O30l Rpaanl 3ol & 7

[Question ID = 269][Question Description = 52_q5Nz_PG_GP28_0Q19]
1. Synchronous communication/moiers w0 [Option 1D = 1073]

2. Asynchronous communication/ smaaiEre e [Option ID = 1074]

3. MNon-verbal communication/ssnRew medmo [Option 1D = 1075]

4, Friendly communication/dxfigof medmr [Option D = 1076]

Correct Answer :-
® Synchronous communication/msmiter meiu [Option (D = 1073]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The classroom communication is a transactional process.
Reason R: Quality of questions asked determines the quality of learning.

In light of the above statements, choose the correct answer from the options given below

ofiY 1 e e s § ¢ wop aifdroera (Assertion A) @ wu 3 iz gz sas® @rer (Reason R) & wa d ;
fdreperst (A) | DEIDE AR UV B0 HRGERSH gikpan &

@101 (R} : g a1q geall B spuraan aiférear &t sporarn o1 foraifra o=t 8

IR el @ e 3, ofky Rn faedt & 21 wdl 3wz @& avel difem

[Question ID = 270][Question Description = $2_qSNz_PG_GP28_Q20]
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Both A and R are true and R is the correct explanation of A/(A) iz (R) Smif o & 4iiz (R), (A) & s@ sa=n £ [Option 1D = 1077]

Both A and R are true but R is MOT the correct explanation of A/(A) 4tz (R) 35l 303 oz (R), (A) & 3dl == ot 2 [Option 1D = 1078]
A is true but R is false/{A) /g &, wog (R) amew & [Option ID = 1079]

A is false but R is true/{A} sera 8, weeg (R) = & [Option ID = 1080]

oW

Correct Answer :-
# Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) 8at o € &tz (R), (A) &t 38t sre=n & [Option 1D = 1077]

16) Water in a river flows at 15 km/hr and a man who runs his boat at a speed of 25 km/hr in still water, takes 7 hours to
g0 a certain distance upstream and then return to the starting point. Total distance covered by the man is

et arét 3 uell @1 aerE 15 fecisfies gfer s 2; v calip S one uel # 25 ReaEics gfer d@ier & ama 3 el @m aarr 2; v B g8t
EI3T @5 HI2 Sife) 307 Yol: YZellsl fog o dicel 3 7 @ o 8, dl 3H salep g o= &l 31 @t gt fasaelt 3 @

[Question ID = 271][Question Description = 52_qSNz_PG_GP28_Q21]
62 Km /62 Ricieticz [Option 1D = 1081]

112 Km/112 Reeiwites [Option ID = 1082]

92 Km/92 Roeinfies [Option 1D = 1083]

56 Km/56 Roziefies [Option ID = 1084]

a2

Carrect Answer ;-
& &2 Km/62 fprries [Option 1D = 1081]

17) When a sum of money was distributed to 10 boys instead of 15 boys, each boy got Rs. 50 more. What was the sum?

51 Wi woA 15 ool @ asmr 10 aswi # Kalya & el 2, a3 gl as® ot 50 wuav siffoe gra 3 £ ag T Roaeit off ?

[Question ID = 272][Question Description = 52_qSNz_PG_GP28_0Q22]
1000/1000 = [Option ID = 1085]
1500/ 1500 = [Option ID = 1086]
1200/ 1200 = [Option ID = 1087]
1250/ 1250 = [Option ID = 1088]

e it BRI

Correct Answer ;-
a 1000/ 1000 =y [Option 1D = 1085]

18) Given below are two statements
Statement I: The single discount equivalent to a series discount of 10 %, 20 % and 30 % is 40 %
Statement |l: The single discount equivalent to a series discount of 15 %, 25 % and 30 % is 50 %

In light of the above statements, choose the correct answer from the options given below

oflr €1 ere Ru amr & ¢

werst - | 10%, 20% aftz 30% 6 ojgacnag wy & wwwgea v a 40% &t &
werct - Il 3 15%, 25% aiz 30% 6t ojpacmas se o FwgeT v s 50% & 3
IWRp el D Al 3, ol T s1v faoeal 3 31 w8t F0z oI a6t HIfam ©
[Question ID = 273][Question Description = $2_qSNz_PG_GP28_Q23]

Both Statement | and Statement || are true/arem | 3 || S=f = £ [Option 1D = 1089]

Both Statement | and Statement [l are false/w@emt | #i | gl s £ [Option D = 1090]
Statement | is true but Statement 1l is false/awmr | e &, Riveg wom | s € [Option 10 = 1091]
Staternent | is false but Statement Il is true/wem | spw &, Rrmg wsem |l s & [Option 1D = 1092]

bl D

Correct Answer :-
& Both Statement | and Statement |l are true/mem | diz | si=t s & [Option 1D = 1089]

19) Find the missing term in the following series

2,5,10, 17, 26, ?
Rrraftifiaa gjzmon # ga i o & -

2,5,10,17, 26,7

[Question ID = 274][Question Description = 52_qSNz_PG_GP28_0Q24]
1. 35

[Option ID = 1093]
2. 36
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[Option ID = 1094]
3. 37

[Option ID = 1095]
4. 38

[Option ID = 1096]

Carrect Answer ;-
& 35

[Option ID = 1093]

20) Given below are two statements
Statement I: The average of all prime numbers between 30 and 50 is 38.9.
Statement |l: The average of first 15 natural numbers is 150.

In light of the above statements, choose the correct answer from the options given below

ofir <1 werer Ru s & ¢

werd - | 1 30 afiz 50 & &l it w5 HAoemeii @1 aitera 38.9 2

were - |l 2 gea 15 griae szl o iz 150 &

IWYTe Dol @ Al #, s 16w s1e fawoul 3 3 Wl Iaz I o6 Difare @
[Question ID = 275][Question Description = 52_qSNz_PG_GP28_Q25]

Both Statement | and Statement || are true/arem | 3z || = = £ [Option 1D = 1097]

Both Statement | and Statement |l are false/w@wemE | & || S s & [Option 1D = 1098]
Staternent | is true but Statement 1l is false/wrem | 2w 2, Preg wem 1 apesn & [Option 1D = 1099]
Staternent | is false but Statement Il is true/wem | spwa &, Rrmg wsem |l s & [Option 1D = 1100]

oWk b2 o

Correct Answer ;-
a Both Statement | and Statement |l are true/=sem | 4iz || gel &g & [Option 1D = 1097]

21) Which one of the following options describes a valid deductive argument with all the premises and the conclusion as
True?

forraifertiae 3 31 @ie - 211 faseu ¥ @2 eaecsas o o aulfel o 2 Brad it anens are iz foreod 31dt 2 7

[Question ID = 276][Question Description = $2_qSNz_PG_GP28_Q26]
1. Probable Argument/ssmer mee [Option 1D = 1101]

2. Improbable Argument/amiser o [Option ID = 1102]

3. Unsound Argument/sgrr a5 [Option 1D = 1103]

4. Sound Argument/s#eiz o [Option 1D = 1104]

Correct Answer ;-
# Probable Argument/Fa=t g [Opticn 1D = 1101]

22) Given below are two statements
Statement |: Two subcontrary propositions cannot both be false,
Statement Il; Two subcontrary propositions must both be true

In light of the above statements, choose the most appropriate answer from the options given below

oifl o were Ru smw 3 ¢

werd - | 1 31 FufRafs sarmacrt # 3 Sieil s @t & wwoid

@l - || 2 8 suftafya sarmrral # 3 Sidl @) aaea T dlon wiide

FRITe el & el 3, ofla fou sre Rrpeal 3 A 718 3w ©1 @=@ $ifm ©
[Question ID = 277]1[Question Description = 52_qSNz_PG_GP28_0Q27]

1. Both Statement | and Statement [l are correct/wem | Az |l g=f =@ & [Option ID = 1105]

2. Both Statement | and Statement [l are incorrect/wsem | & 1| Siat errr & [Option D = 1106]

3. Statement | is correct but Statement Il is incorrect/wem | a1 &, fveg wem |l erwr £ [Option 1D = 1107]
4. Statement | is incorrect but Statement [l is correct/oam | #om 8, eeg e | #8 £ [Option 1D = 1108]
Correct Answer :-

# Both Statement | and Statement |l are correct /asee | iz || 3l 3=t € [Option ID = 1105]



"l getol 3ol A - RriT 3 il @eoll 96 W [Bar?” 3 oo A forsorleriaa # A oot - AT S & ?

[Question ID = 278][Question Description = 52_qSNz_PG_GP28_0Q28]
1. Appeal to Ignorance/ st @ acier [Option (D = 1109]

2. Appeal to Pity/emn @ fere soit [Option ID = 1110]

3. Complex Question/siZa g [Option 1D = 1111]

4, Begging the Question/gsa gman [Option ID = 1112]

Correct Answer ;-
e Appeal to lgnorance/ sedsrn w5t ardier [Option (D = 1109]

24) Which of the following statements are true with reference to Vyapti (concomitance) according to the Nyiya system?
A. It expresses-the relation between two individuals objects only

B. It expresses the relation between the classes of individuals

C. It can be said to exist between two things if they are related as cause and effect.

D. It can be said to exist between two things if they are related as species and genus

Choose the correct answer from the options given below:

ST, @ IR il o Hesf 3t fowaifeiliaa & 3 et - 21 avaa w& 7

A, &8 W] QY 3191 el Azl & dia Fd ol Afers o 8

B. @1z wafis ARl & dfa ddu & afirerns o 2

C. W @8l 51 Tl & s aft < arqgu oRu i orf & = 3 Aditn 8, dl 3 aeqeil & dia soler afdaea 8
D. aif¢ < axge sk afiz dor & wu I HdfenT 8, dY Y1 o8 o Aodl 8 o6 g3 afirea O azgaili @ dia 8
ofl<l g 31¢ famseul I 7 FEl FAT o aal HIfAG :

[Question ID = 279][Question Description = 52_qSNz_PG_GP28_Q29]

1. A, Cand D only/@ae A, C 4z D [Option 1D = 1113]
2. Cand D only/dFer C aftz D [Option D = 1114]

3. Band C only/<%a B &tz C [Option ID = 1115]

4, B, Cand D only/®== B, C iz D [Option ID = 1116]
Correct Answer ;-

o A, CandDonly/was A, C 3= D [Option ID = 1113]

25) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: According to the Nyaya system, when one observes smoke at a particular locus, one could infer that the same
locus has the presence of fire too.

Reason R: Fire causes smoke, and is always accompanied by smoke.,

In light of the above statements, choose the correct answer from the options given below

i) ot wead Ru o0 & © v afdnpera (Assertion A) @ wu & 3iiz o1 33 wrwt (Reason R) D wa 4 .

sifiroerst (A) | FIRIOIR] @ AGAR | 1 Roeil Rida Ferer uz £ 3w 8, df ag oI @2 IR0l & [ 391 Fena Uz aner st 3
vt (R) @ gp3if 1 wRYr amet & I s1si el gl &, agi 3eT 913 BT 3

IURITE el @ ACRD #, skl G famedl 3 21 718 sae @1 e Hifss |

[Question ID = 280][Question Description = 52_qSNz_PG_GP28_Q30]

1. Both A and R are true and R is the correct explanation of AS(A) oz (R) Sal v & itz (R), (A) & 18t smmesen & [Option ID = 1117]

2. Both A and R are true but R is MOT the correct explanation of A/ (A} dz (R) Sial 7w & az=g (R), (A) o 3t semeem st & [Option ID = 1118]
3. Adstrue but R is false/(A) =wa &, w=g (R) smrg & [Option ID = 1119]

4. Ais false but R is true/ (A} sz &, wieg (R) =1 & [Option ID = 1120]

Correct Answer :-

# Both A and R are true and R is the correct explanation of A/ (A} 3fiz (R) gt 3= & 4z (R), (A) & 38 e £ [Option 1D = 1117)

26) Which Operating System is used by the Apple computer systems (an American technology company)?

Tl pRYe: Yol (v adildhl gieniBrbl wueit) wRI ®id - 3 siiueidsr Rrrea o1 yieT Roen s 8 -

[Question ID = 281][Question Description = 52_qS5Nz_PG_GP28_0Q31]
1. Linux/emgeras [Option 1D = 1121]

2. Windows/&E [Option ID = 1122]

3. Solaris/siEtys [Option ID = 1123]

4. Mac/# [Option 1D = 1124]
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Correct Answer ;-
o Linux/emsorra [Option 1D = 1121]

27) What is Phishing?

fisfoior aem 3 7

[Question ID = 282][Question Description = $2_qSNz_PG_GP28_Q32]

1. It uses networks to search out computers/az s gea 8 e deasd &1 gaer s & [Option ID = 1125)

2. Someone sends legitimate-looking emails to users/=F saftr gacerail = §u BEnE 2o are! 80 deen & [Option (D = 1126]
3. Re-directs the user to a fake website/=z grer o1 omeclt FemmEe 61 A gan Ui s=ar £ [Option 1D = 1127]

4. A key logging software /=g u@ @ - wiiisk sifred=e & [Option 1D = 1128]

Correct Answer :-

® |t uses networks to search out computers/=E TvEes gdoa & FE diegd o @@ @ ¢ [Option 1D = 1125]

28) Given below are two statements regarding Denial of Service attacks
Statement I: It is an attempt at preventing users from accessing part of a network, notably internet servers,
Statement II; It can be mitigated by using email filters.

In light of the above statements, choose the correct answer from the options given below

o I pum e sm & ;

Dol - | 1 devor Aasil oY dawg Tl B YRicol HoTael A6 YB3 o oca® & 233 fadiums gewole wdz @l Qi ool 3 Aol o YR 8
ool - 1l 7 £ - 3 fscez o YRIeT T 331 o ear i1 v &

IRiTh Seell & e 3, ofld Ry s1e faescal 3f 2 718t 3oz &1 aare &Hifom :

[Question ID = 283][Question Description = $2_qSNz_PG_GP28_Q33]

Both Statement | and 5Statement || are true/@em | iz || gt =1 & [Option D = 1129]

Both Statement | and Statement |l are false/mem | oz || 3wl s & [Option (D = 1130]
Statement | is true but Statement 1l is false/awmr | ww &, Riveg wem | s € [Option 10 = 1131]
Statement | is false but Statement Il is true/aem | s 2, freg wem || @ € [Option 10 = 1132]

R

Correct Answer :-
e Both Statement | and Statement |l are true/wem | #iz || S=if I= £ [Option D = 1129]

29) Following are some statements regarding software copyright. Choose the correct statements.
A. Use of a product key supplied with original software

B. Sign a licence agreement

C. Use of holograms on original packaging

D. Use of dongles to prevent illegal use,

Choose the correct answer from the options given below:

Hiredrr widlese @ wa i oo wea Be siw ¥ 718 weer w1 aga Hifte ¢
A. diftrr divcias @ W gerar e s1e gisac - Ot o1 sagier

B. ensdlw war uv s¥aIeR wwon

C. gor Gfdier ur Siasa wr gzl

D. 317 wropsh Faaet ol Awa D Rre Siore an yaaeT

il R s1g Rreseal 3 A 78 30w wr awar Hifsre :

[Question ID = 284][Question Description = 52_qSNz_PG_GP28_Q34]

1. A, Band C only/s&am A, B 3fiz C [Option |D = 1133]
2. B, Cand D only/daer B, C dfiz D [Option ID = 1134]
3. Band C only/@%e B stz C [Option ID = 1135]

4. A, B, Cand D/A, B, C 4tz D [Option 1D = 1136]

Correct Answer -
o A BandC onlyfadaa A, B sfiz C [Option 1D = 1133]

30) Match List | with List Il

List | List I
Network Security Technigque |Implementatinn Technique




I. Public and private key

A. Symmetric encryption
B. Asymmetric encryption Il. Digital signature

C. Authentication lll. Secret key

D. Denial of Service Avoidancellv. Email filter

Choose the correct answer from the options given below:

et -1 Bt et 11 3 e if

et - neft -

(cica Rrafs aoaiis) (Rozmeaaret awmeikbl)

A. Frafdea varfigeora |. snedaforr i forsft &bt (aish)
B. sramfira vafeproerer 1, fafareer gmmgrz

C. g 1. s 6t (a5sH)

D. afda 3 gere) @) Holl HIal IV, $3et fsees

a1k 1o oo Repedl 3 3 316l 302 giene :
[Question ID = 285][Question Description = 52_qSNz_PG_GP28_Q35]

1. A-I,B-1L,C-1Il, D-IV [Option ID = 1137])
2. A-1,B-1Il, C-1¥,D -1l [Option ID = 1138)
3. A-NLB-1L,C-N,D- IV [Option ID = 1139]
4, A-1,B-1,C-1¥, D -l [Option ID = 1140]
Correct Answer :-

@ A-I,B-1,C-Ill, D-IY [Option ID = 1137]

31) Given below are two statements
Statement I: Summer smog is primarily associated with photochemical formation of ozone and other pollutants
Statement |l: The Great Smog of London disaster, is a classic example of summer smog

In light of the above statements, choose the correct answer from the options given below

offr <t erer Ru s & ¢

erd - | & 3fica =B @1 ¢ DI HIR Alsial iz o YgH®l © Yol IRIcre (brRibima) oo 2 g1 &
werd - |l ;1 3¢ digel Faiiel amuct 3fitH SBY & & DIGE DI IDOC ICIEIVI &

IWRYTe Dol @ Al #, s 16w s1e faocul 3 3 wdl Iz Bl w6t Difare @

[Question ID = 286][Question Description = §2_qSNz_PG_GP28_Q36]

Both Statement | and Statement || are true/arem | 3z || = = £ [Option 1D = 1141]

Both Statement | and Statement [l are false/w@wemt | #i || gl s £ [Option D = 1142]
Statement | is true but Statement 1l is false/wem | 2w 2, Prsg wem 1 s & [Option 1D = 1143]
Staternent | is false but Statement Il is true/wem | spw &, Rrmg wrem |l s & [Option 1D = 1144]

N R PTS  ry

Correct Answer :-
& Both Statement | and Statement | are true/mem | diz | giat aca & [Option D = 1141]

32) Which of the following are the main goals of the Convention on Biological Diversity's (CBD's)?
A. Protection of water resources

B. The conservation of biological diversity

C. Promotion of shifting agriculture

D. The sustainable use of biological components

E. Fair and equitable sharing of benefits arising from genetic resources

Choose the correct answer from the options given below:

Sa fatterar aftvasa (IdS) s g asa

A, a1 HATEE] o1 HgvT

B. dia fafeeren o1 Hzgor

C. g ofty =1 Hatla

D. il fasmeh aewl @ Femzvli suzier

E. afopaifdrebl FHATeel 3 Sruoal el o wgfaed iz wae faezor

olfar 16 s1e faaseal 3F 2 71él 3z &1 aas Hifag ¢

[Question ID = 287][Question Description = $2_qSNz_PG_GP28_Q37]

prepp



A, B and C only/dze A, B iz C [Option ID = 1145]
A, C, and E enly/dsaa A, C sz E [Option D = 1146]
B, D and E only/==a B, D sz E [Option 1D = 1147]
A, D and E only/@am A, D iz E [Option [D = 1148]

o R

Correct Answer ;-

o A, Band C only/@am A, B sfiz C [Option D = 1145]

33) Given below are two statements

Statement I: In waste water treatment systems, most of the large floating materials are removed in the screen chamber
Statement Il: Colloidal and dissolved organic content of waste water are removed in the grit chamber

In light of the above statements, choose the most appropriate answer from the options given below

iKY ) e Re s 3 ;

el - | 1 aforee s/ ontrer quielt # affrastor a3 dzar arcl ucrelf & Falel firas # ger i aren 8
@eret - 1l smafdrse sl o oleliase stz goorgiia ucred o Bfe vz 3 & ar sirarn 2

IWRp el D Al 3, i 0w s1v faoeal 3 31 8 Faz oI a6t HIf @

[Question ID = 288][Question Description = 52_qSNz_PG_GP28_Q38]

1. Both Statement | and Statement |l are correct/mam | 3z || 2 78 & [Optien ID = 1149]

2. Both 5tatement | and Statement |l are incorrect/@erm | iz || 3wl wiewr € [Option 1D = 1150]

3. Statement | is correct but Statement Il is incorrect/@emt | ardt &, Feog e || sewr & [Option ID = 1151]
4. Statement | is incorrect but Statement [l is correct/wem | srom &, Riveg o || w58t & [Option ID = 1152]

Correct Answer :-
& Both Statement | and Statement Il are correct/wum | 3z || = =@ & [Option ID = 1149]

34) Which one of the following Articles of the Indian Constitution talks about our duty to protect the environment?

W & A & fow soleae A urIiazor FHzger & gfa g oo @ Joo 8 :

[Question ID = 289][Question Description = $2_qSNz_PG_GP28_Q39]
1. Article S51A(a)/ smreds 51 @ () [Option ID = 1153]
2. Article S1A{c)/agede 51 @ (a1) [Option 1D = 1154]
3. Article 51A{e)/ argedte 51 = (3) [Option D = 1155]
4. Article 51A{g)/argede 51 & (@) [Option ID = 1156]

Carrect Answer ;-
& Article 51A{a)/ serds 51 @ (w) [Option ID = 1153]

35) Arrange the following naturally occuring Uranium isotopes in the correct sequence as per the proportion of occurence
A U-234
B. U-235
C. U-238

Choose the correct answer from the options given below

YRR 0 3 g pErm @ Rifica seraBrml s e o adfl o o 2 ©

A.U-234
B. U-235
C.U-238

oA fow =10 Repodi 3 J w18 309 @1 orm &l @
[Question ID = 290][Question Description = 52_qSNz_PG_GP28_Q40]

A, B, € [Option 1D = 1157]
B, C, A [Option 1D = 1158]
C, B, A [Option 1D = 1159]
C, A, B [Option ID = 1160]

b B

Carrect Answer ;-
o A, B, C [Option ID = 1157]

36) How many Indian languages have been declared endangered by UNESCO?



fsersht sieeitar sirorsil @5t goteas) i aagrr it Rear srn 8 .

[Question ID = 291][Question Description = 52_qSNz_PG_GP28_Q41]
1. 47

[Option ID = 1161]
2. 87

[Option ID = 1162]
3. 117

[Option ID = 1163]
4. 197

[Option ID = 1164]
Correct Answer ;-
e 47

[Option ID = 1161]

37) The major objective of value education in institutions is

H¥emwoll d Hod T o gr e aan g ?

[Question ID = 292][Question Description = 52_q5Nz_PG_GP28_0Q42]

Value for society/zsms @ fom =1 [Option ID = 1165]

Developing responsible and good citizens/sieerl dk s sdias Fesln ween [Option 1D = 1166]
Developing ideal teachers/ smest fSgrr femz wen [Option 1D = 1167]

Acquainting students with the value of education/Rrenfefrt =5t fonem @ s 3 srprn aran [Option 1D = 1168]

e it R

Correct Answer :-
& VYalue for society/wm @ Bre ag=r [Option 1D = 1165]

38) Which among the following are the main thrusts of the NEP-200 regarding institutional restructuring and consolidation?
A. A rigid separation of discipline, with early specialization and streaming of students into narrow areas of study

B. Developing a spectrum of institutions with a focus on research only

C. To establish stage-wise mechanism for granting graded autonomy to colleges

D. Developing vibrant communities of scholars, breaking down harmful silos, enable students in disciplines including artistic,
creative and sports

E. to end the fragmentation by transforming higher education institutions into large multidisciplinary universities

Choose the correct answer from the options given below:

FveneId goteor iy Twe B vide A Praffa 3 3 of Riar i 2020 @ gwa Rig war ¥ 7

A. ezraer @ ol Al A oy / oyl Bt griftcr Rdrasar iz aeare Rroa @ wrer Rl o 56 geaaer

B. U wivena RreoRa weon Bragst g ewmer oiler w93 &1

C. aafderaai o Qollay Farraar gorer wal @ oy gy goneht Fenfta wven

D. e @ A9RT AHSH (913 WH3oll, SHeRDIRDE Al Wl ol WH3ll, B - BRI ®©l W, IJaIe 31T T A ey eei 3 s semon
E. oz difdre Fvaml @l goo aglimere Rrakenem # afwra o= stk w1 #3ama wwon

ol f8u a1 fRepedl d A A6l 37 @l w=s difens :

[Question ID = 293][Question Description = 52_qS5Nz_PG_GP28_0Q43]

A, Band C only/@am A, B 3fiz C [Option D = 1169]
B, C and D only/sam B, C 3fiz D [Option 1D = 1170]
C, D and E only/g5a= C, D & E [Option ID = 1171]
A, D and E only/g5am A, D sz E [Option ID = 1172]

ol o

Carrect Answer ;-
# A B and C only/daa A, B sfiz C [Option 1D = 1169]

39) Match List | with List Il

List | List Il

A. University Education Commission |, Dr. L. Mudaliyar

B. Secondary Education Commission [ll. Dr. Radha Krishnan
C. Education Commission [ll. Dr, Sam Pitroda
D. National Knowledge Commission [IV. Dr. D.5. Kothari
Choose the correct answer from the options given below:

prepp



it -1 B 3t -l @ AR iR

et -| et -1l
A. Rreafemera Rigi st [l. Si wer Aok
B. smeaifies Rgm areiteT I, 3t. aremcgoorer
C. frg st 1. i, i Rrerer
D. I stor R |I"J. =1, 41, uH, ®ord

sl 1o oo Repedl 3 3 316l 302 giene :
[Question ID = 294][Question Description = 52_qS5Nz_PG_GP28_0Q44]

A-NI,B-1,C-I¥,D- 1l [Option ID = 1173)
A<, B-1,C-1V,D- Il [Option ID = 1174]
A-1¥,B-1Il, C-1l, D-1[Option ID = 1175]
A-1,B-1l,C-Il, D- IV [Option ID = 1176]

=

Carrect Answer ;-
o A-l,B-1,C-IV,D-|l[Option 1D = 1173]

40) Given below are two statements

Statement |: National Commission of Higher Education and Research (NCHER) is the apex regulatory body for Higher
Education in India

Statement |I: The Independent Regulatory Authority for Higher Education will not be dealing with entry regulatory functions
of AICTE, MCl and BCI, as recommended by the Mational Knowledge Commission

In light of the above statements, choose the most appropriate answer from the options given below

a5 &1 werst Ru s1e &
averor - | 1 el ooz foranr i oner (vor =t oo § ane) swa H oo sRier @ e oftd Rfsrmors Brorr &

averot - || @ wrsdier snar smeiter 5t Rreifeer @ stopane soane fign @ Rie waosy Rtraerr qgffrsrwr e s M & ¢, e A s siie St A and @
ol ¥ & fafermers gorit o sifl 230

ITb DoEl @& Alcle i, ¢l 8g a1e [ascul 3 3 w78l 3az o wera $lifae ¢
[Question ID = 295][Question Description = 52_qSNz_PG_GP28_Q45]

Both Statement | and Statement [l are correct/wem | #i | diei w1t & [Option ID = 1177]

Both Statement | and Statement [l are incorrect/wem | 3 || gisi =iewr £ [Option 1D = 1178]

Statement | is correct but Statement Il is incorrect/wem | w1 &, freg oo |l s & [Option ID = 1179]
Statement |is incorrect but Staterent [l is correct/wem | #nw &, fiveg wem || sdt 2 [Option ID = 1180]

e ld B

Correct Answer :-
« Both Statement | and Statement [l are correct/wem | afiz || St =dt & [Option ID = 1177]

Topic:- GP_29NOV_5HZ_C

1) Read the given passage and answer the questions that follow:

There is no such thing as memory in the sense of something that can be seen, touched or weighed. Memory is an
abstraction referring to a set of skills rather than to an object. Neither is there a single standard for judging a good or poor
memory. There are a number of different ways in which a person may have a 'good' memory.

Memory is generally viewed as consisting of three stages (1) Acquisition refers to learning the material; (2) Storage refers to
keeping the material in the brain until it is needed; and (3) Retrieval refers to getting the material back out when it is
needed. These three stages may be viewed the 4 R's of Remembering, Recording, Retaining and Retrieving.

Memory consists of at least two different processes: short-term memeory and long-term memory. Short-term memory has a
limited capacity and rapid forgetting rate, Its capacity can be increased by chunking, or grouping separate bits of
information into larger chunks. Long-term memeory has a virtually unlimited capacity.

One measure of memory is recall. In aided recall, cues help to produce information. A second measure of memory is
recognition in which one must be able to identify it when it is presented. In a third measure of memory, relearning, the
difference between how long it took to learn the material the first time and how long it takes to learn it again indicated
how much one can remember.

There are several explanations of why we forget. Passive-decay theory says that learning causes a physical 'trace’ in the
brain that decays with time, Repression theory says that we purposely push unpleasent memories into unconscious mind.
Systematic-distortion theory says that our memories may be distracted by our values and interests. Inference theory says
that forgetting is due to problems in retrieving the information, and that we can remember almost anything, if given right

Cues.
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foramfcifae smEner @1 ufey 3iiz geat @ Iaz Sifdm ;@

3 312l 3 FaorerlRe Sivdl @i st oidt gldl & et Sza1 s o &, Faol Rean s wasar & ar dicn s Fpal 901 9IRD HARHE § R
3] & SR Bkl @ Gl Ber B 51 ot ®IF U A Alerd & [3rerw sreddl aliz 3aera 39ie0n oifin ol forfa fisan e ¥ falieor =0 2t s &
Rrad freft safks Bt Fazer gt sl @ aowd 3

A Taeor oifer @i itor el @ wa # Swn awen 3 1 (1) graor ameel o Haret J Adfia 8 (2) siser sia o areerr @ 31, afdaeo &
HAE]l @ Tael A At 2 ;) aiiw (3) Yo gIffy smaeacsdr Use Uz, HFEP)l o arad YId ool A HAGlZ & 34 dior aevil o @ anz (R) -
Pedtatior, Frabifdsr, PRBieT ofiv AAReT @ wa 3 Swn sn wwa &

o1 ot 3 -~ 3 s gfpene siddt 3 srcamiferr rereraifes iz Sdofler raenafs scawiies saver afvs & Hifha srmar iz
i [T o2 Bifdl & B B Yirn SToRbR W SSnT AT JAHEl SR Jetl SoRbI dollip: $3RbI 1 3 giy @1 s w1l 3 Shipifens
Faunorftp &t erawT awe: sefifirT Ak 2

FHIUIGRE I Wb AU TG Dol 2 HERIA YIH A Dol d HAD St YA Dol I WD 8 & FHIIGINE Bl ¢ IS Al
(repifSoremt) 2 fordi calp @ oo $31 g Rbv Sl Uz Ussiicloll AFI9RE Bl & FHAVIIRD @ i Anep goi: Hizme! i uscl ar ArE] @l
o # w61 e iz go: 53 Hieaa 3 oel wera @ i sivie @1g corfon & o o finaen wg @ o

Z ol el & - U] B Il gl Wkl & Ula 3o Rigia we weal 2 e st aiiaes 3 v siifers 'Riz’ s 2 5 w9 © a9 e
s B gaor (Pederer) o Rigia as wsm 8 5 s gRilsiegda e raftril o sradae as # ada 3a ¥ Retalte - Redela figia as
wedl 2 kb Al Tl zan fgodl iz sRrl 3 genfad 21 asdl 8 s ©f Rigia 9 wear 2 e smoenail &bl yaygfify # sssansi © oron
BH kT 3 31 & WAl Tidd I Blol Uz oRnel Hull aKd ae @ Aol 8

Which one of the following is not a measure of memory?

foroiferfian 3f 3t it 311 ToIeIRE o1 IO oIl 2 7

[Question ID = 296][Question Description = $2_qSNz_PG_GP28_Q46]
1. Relearning/ge: ditaer [Option [D = 1181]

2. Record/amicrz [Option 1D = 1182]

3. Recognize/uzziman [Option ID = 1183]

4. Recallf=ng wwen [Option ID = 1184]

Correct Answer ;-
# Releamning/gst 2tz [Option 1D = 1181]

2) Study the given table carefully and answer the questions that follow:

The given table has the number of candidates who appeared and qualified for an university entrance examination (in
thousands) in 5 different years. (A-Appeared, Q-Qualified).

. BSc BA MSc MA
a e B ke B o k |
2016 3.4 (1.2 6.4 2.3 2.8 13 48 R4
2017 3.6 (1.8 IG.E 2.5 2.4 1.1 4.7 R3
2018 B2 1 2 P8 P2 12 46 P25
2019 a8 23 8 26 5 (L2 las 7
2020 3.8 [19 7.4 3.2 2.6 13 [5.2 |3.2

foramfeifiae smEner @1 ufey 3iiz geal @ Faz Sifdm

A a1 3 Tarmerlre Szl @i =t oidt 2l 2 ot Saar o1 swean &, Tael e o saeam € @ dicn S Jpal § T 91D WARHS & el
a3 & SRl Bkl @I J1el Bt B 51 ot ©I U A Aol & [3rerw sreedl alie 3w 7aen oifin ol forfa fisan sime ¥ fafieor =0 2t wod &
firerd Rozit cafs &t Faeor gaits s’ &t soxdt 3

HAATRET: TV 91RT @1 et ool @ wu 3 S s 3 1 (1) Qr=or AapEl ot Hwe 3 i 8 (2) s 5| /o 3[aess & o, aidaws J
ARl ©t TEo! A At 2 ; aiiz (3) gor: gifft snagacsdr ugel Uz, APE[ S aiaH gIe @Iol 3 Hdltnd 3 ol dicl awull @I are anz (R) -
Pedtafior, fradifder, PRfier sl AdRer © wa 3 Swr sn aom 8

Foor oiftr 3 wa-A-ww 21 fires gfYye st 3 1 scomiftrr ervoiRs Ay Sklmifter reroniaifs  acawiftir saver ofts & dHifha gaar iz
il ferzernt 52 Bil 2 B SIK Yerb Siioibll I Slisdm? Al Adgd FRI gedl ALK dollb? 53RbI g1 # giy & o1 wowdl & Shkpilicrs
Faurerfip &t grawT awge: sefifi Ak 2

FARIIfIs Wl U5 WIS A5 e ¥ AR QIH WG wIsl # Ada sneresdl gra weer # A A3 ¥ reroells o gaw araw sl
(Trepifdoremt) & fordi s @ f1e 331 g Rbv Sl U Ussiicloll AR GBIl & FHAVIIRD @ e Annr gor: Hizae! 3 Uadl ar ArE] @t
iy 3 @31 Tar sl gon: 33 Fiwet 3 oe! wa & d aiaz uE gurfan 2 75 ¥ fasaen A @ wdr @

BH ol e & - T3l ©F o 8t Wil 2 Ghia Bos RBigia 3 oear 2 6 saitem afraes # oo Hifde &g doir 2 = 39T @ w9 fie
st & e (Teret) @1 Rigia us e & fe oo yrisraigdo IRjEen: Fairil ©f 3ciTe 79 3 &ipbd &d 3 Reeale - 5via Bgia as
wedl 2 kb ol TRl zan ol iz sl 2 genfad 21 asdl 8 g ©f Rigia 9 wear 2 e smoenail &l gaygfiify #d sesans © oron
&1 e 3 3017 sa w8 Ao gra Aoy a3 ot Al and a oy awd §
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What are the constituent elements of memory in the order presented by the author?

e g1 e feoa oA 3 T gifve @ araera 2 7

[Question ID = 297][Question Description = $2_qSNz_PG_GP28_Q47]
1. Store-Acquire-Retrieve/si=mor - g wan - gar: g oran [Option 1D = 1185])

2. Acquire-Retrieve-Store /ym s - got: gra Sa - #igwer [Option 1D = 1186]

3. Acquire-Store-Retrieve/qm ooz - #iZ301 - Jui: g &7an [Option 1D = 1187]

4. Recall-Retrieve-Recognize/=wg oo - gol: [ w301 - Ugaleian [Option (D = 1188]

Correct Answer :-
& Store-Acquire-Retrieve /#ismul - QIF ©2al - Yot UMH @2an [Option 1D = 1185]

3) Read the given passage and answer the questions that follow:

There is no such thing as memory in the sense of something that can be seen, touched or weighed. Memory is an
abstraction referring to a set of skills rather than to an object. Neither is there a single standard for judging a good or poor
memory. There are a number of different ways in which a person may have a 'good' memory.

Memory is generally viewed as consisting of three stages (1) Acquisition refers to learning the material; (2) Storage refers to
keeping the material in the brain until it is needed; and (3) Retrieval refers to getting the material back out when it is
needed. These three stages may be viewed the 4 R's of Remembering, Recording, Retaining and Retrieving.

Memory consists of at least two different processes: short-term memeory and long-term memory. Short-term memory has a
limited capacity and rapid forgetting rate, Its capacity can be increased by chunking, or grouping separate bits of
information into larger chunks. Long-term memory has a virtually unlimited capacity.

One measure of memeory is recall. In aided recall, cues help to produce information. A second measure of memory is
recognition in which one must be able to identify it when it is presented. In a third measure of memory, relearning, the
difference between how long it took to learn the material the first time and how long it takes to learn it again indicated
how much one can remember.

There are several explanations of why we forget. Passive-decay theory says that learning causes a physical 'trace’ in the
brain that decays with time, Repression theory says that we purposely push unpleasent memories into unconscious mind.
Systematic-distortion theory says that our memories may be distracted by our values and interests. Inference theory says
that forgetting is due to problems in retrieving the information, and that we can remember almost anything, if given right
cues,

foramfeifae sEner @1 ufey 3z ool @ Iaz Sifdm

3 312l 3 FaorelRe Sivdl @i st oidt gidl & et Swar s swpar &, Faol Rean s wosar § ar dicn s Fpal § 9301 9IGD HARHE § R
T @ Sl BI9ICil I |I2f Bl & ol 7ll BIS Kb Al Alkb & IR arcsl i FeE 7ol giRp @l fovta fioar e B3l [ifem &=a 31 oo 8
Rrdt foelt safRp @t Faver aifts s’ & mooedt 8

FeE: Taeor oifer it witor Tl @ wa # Sun aen 3 0 (1) graor sl o) Haret A wdffa 8 (2) siseer s oo areerr @ 31, afdaer #
HIEJI DI TEel A FFERM & ) 3T (3) ger: gIfit Aaeasdr Usel U, HHE)l Bl aIad YId ©ol A AdiZR 3o dier aevil @ ar amz (R) -
friafis, Poiffer, fRfGier Az H8RET © wu I T3 s 7w 2

Tl otfip 3 H-2-TH 3 firee gtz 2l 3 1 arcumifers vk Az Skfmifens ammehs acudmiiis Al oifis & ifie germr sfiz
il [Rreervl o7 ol & S B QAP SIoRBRI Wl SIS A1 e R ot oKD dollib: FIRbI 219 # giy @t o Aaxi § dkkpifers
Tzl &t srvar argea: sefifia 2xht 3

TS Bl U AMID MG DIl 8 HERIA YIH A DIol A A Slielplit QI 3ol A HBRID Bkl 3 FHIVIID DI ¢ AND AR
(RwsifSarorar) 3 Brwsl wafts @ Rre 331 gqrga fpe snel az asero araews aiar 3 Favorelfis & died smaws gor: Hilwa 3 ascht g arash o
o # @61 e iz g 53 i A oel W & i sivie @1g corfon & o o finaen wg @ I

Z ol 9eiel & - U] B Il gl Wehvdl & Ufaa 3o Bigia we weal 2 e st aifiaes 3 oo sifers 'Rig’ gomm 2 5 w19 @& e e
s B gaor (Reerer) o Rigia @ wsm 8 5 & QRilsiegda s raforil o sradae as # ada 3a 3 Rrtale - Redela Rigia as
el & Rb sar! Tl saR godl 30z SRl 3 genfaa a1 awdl 3 aretaret © Rigia 9 we 2 [ ool bl gergfify o sresansil @ oror
BH il 3 3l & Wl T Iy Blol Uz oRniel Hull aKd ae @ A 8

Memory not a sensory experience because it is afan

THIIIRE sfoczll T gy o<l oidl & ?

[Question ID = 298][Question Description = $2_qSNz_PG_GP28_Q48]

1. Concrete skill /erifies =7 3f st 2 [Option ID = 1189]

2. Value/=m=ilics =& e & [Option ID = 1190]

3. Hybrid skill/==iifs = g @Siewt & [Option 1D = 1191]

4. Absence of single standard for judging the quality of memory/ZumiRs ! ST @ Joisel &5 [F1g Ui e © A9 @ =Rl [Option 1D = 1192]

Correct Answer :-

prepp



* Concrete skill/g=iffes =1z apf wtoer 2 [Option ID = 1189]

4) Read the given passage and answer the questions that follow:

There is no such thing as memory in the sense of something that can be seen, touched or weighed. Memory is an
abstraction referring to a set of skills rather than to an object. Neither is there a single standard for judging a good or poor
memory. There are a number of different ways in which a person may have a 'good' memory.

Memory is generally viewed as consisting of three stages (1) Acquisition refers to learning the material; (2) Storage refers to
keeping the material in the brain until it is needed; and (3) Retrieval refers to getting the material back out when it is
needed. These three stages may be viewed the 4 R's of Remembering, Recording, Retaining and Retrieving.

Memory consists of at least two different processes: short-term memory and long-term memory. Short-term memory has a
limited capacity and rapid forgetting rate, Its capacity can be increased by chunking, or grouping separate bits of
information into larger chunks. Long-term memeory has a virtually unlimited capacity.

One measure of memory is recall. In aided recall, cues help to produce information. A second measure of memory is
recognition in which one must be able to identify it when it is presented. In a third measure of memory, relearning, the
difference between how long it took to learn the material the first time and how long it takes to learn it again indicated
how much one can remember.

There are several explanations of why we forget. Passive-decay theory says that learning causes a physical 'trace’ in the
brain that decays with time. Repression theory says that we purposely push unpleasent memories into unconscious mind.
Systematic-distortion theory says that our memories may be distracted by our values and interests. Inference theory says
that forgetting is due to problems in retrieving the information, and that we can remember almost anything, if given right
cues.
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"Systematic-distortion theory" offers an explanation for
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[Question ID = 299][Question Description = 52_qSNz_PG_GP28_Q49]

1. Remembering /=g wean [Option 10 = 1193]
2. Acquiring/gm @ [Option 1D = 1194]

3. Forgetting/smmn [Option 1D = 1195]

4, Retrieving/gm: g weam [Option 1D = 1196]

Correct Answer ;-
& Remembering/ang o5 [Option |D = 1193]

5) Read the given passage and answer the questions that follow:

There is no such thing as memory in the sense of something that can be seen, touched or weighed. Memory is an
abstraction referring to a set of skills rather than to an okject. Neither is there a single standard for judging a good or poor
memory, There are a number of different ways in which a person may have a 'good’ memory.,

Memory is generally viewed as consisting of three stages (1) Acquisition refers to learning the material; (2) Storage refers to
keeping the material in the brain until it is needed; and (3) Retrieval refers to getting the material back out when it is
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needed. These three stages may be viewed the 4 R's of Remembering, Recording, Retaining and Retrieving.

Memory consists of at least two different processes: short-term memeory and long-term memory. Short-term memory has a
limited capacity and rapid forgetting rate, Its capacity can be increased by chunking, or grouping separate bits of
information into larger chunks. Long-term memeory has a virtually unlimited capacity.

One measure of memory is recall. In aided recall, cues help to produce information. A second measure of memory is
recognition in which one must be able to identify it when it is presented. In a third measure of memory, relearning, the
difference between how long it took to learn the material the first time and how long it takes to learn it again indicated
how much one can remember.

There are several explanations of why we forget. Passive-decay theory says that learning causes a physical 'trace’ in the
brain that decays with time, Repression theory says that we purposely push unpleasent memories into unconscious mind.
Systematic-distortion theory says that our memories may be distracted by our values and interests. Inference theory says
that forgetting is due to problems in retrieving the information, and that we can remember almost anything, if given right
cues,
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This text can be taken as an answer to which one of the following questions?
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[Question ID = 300][Question Description = §2_qSNz_PG_GP28_Q50]
1. How can we measure memaory?/za THogis o1 &3 A Ja £ 7 [Option 1D = 1157]
2. Why do we forget? /= o=lf 9oy & ? [Option 1D = 1198]
3. What is memory?/sazmyRe o=r & ? [Option 1D = 1199]
4. What are the types of memory!/smueics @ y@r @ & ¢ [Option 1D = 1200]
Correct Answer :-
# How can we measure memory? /& JRuivs &1 & ma 3 & ¢ [Option 1D = 1197]
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